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Sl. No.1
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Sir Han Sloane's collection which became the founding collection of the British Museum mainly deals with

1. Archival Materials
2. Arts and Crafts

3. Natural History

4. Archaeology

1 1

(2) 2

(3) 3

(4) 4
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2[Option ID=7002]
3[Option ID=7003]
4[Option ID=7004]

Sl. No.2
QBID:166002

Which of the following was the first professional membership association for those working in the museum

field?

1. American Alliance of Museums
2. Museums Association, UK

3. ICOM

4, Museums Association of India

1) 1
) 2

(3) 3

4) 4
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1[Option ID=7005]
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3[Option ID=7007]
4[Option ID=7008]

Sl. No.3
QBID:166003




Which of the following is considered to be the world's first public museum?

1. Louvre, France
2. Ashmolean, UK
3. Hermitage, Russia
4. British Museum, UK
(1) 1
) 2
3) 3
(4) 4
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(4) 4
1[Option ID=7009]
2[Option ID=7010]

3[Option ID=7011]
4[Option ID=7012]

Sl. No.4
QBID:166004

The word 'galleria’ appeared to express the museum concept in the

1. 16™ century
3 14 century
3. 18t century
4. 15t century

1) 1

(2) 2

3) 3

(4) 4
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1[Option ID=7013]
2[Option ID=7014]
3[Option ID=7015]
4[Option ID=7016]
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Entomological board is a device used to arrange:

1. Fish
2. Amphibians
3. Insects
4. Reptiles
1 1
(2) 2
3) 3
(4) 4
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1[Option ID=7017]
2[Option ID=7018]

3[Option ID=7019]
4[Option ID=7020]

Sl. No.6
QBID:166006

Antique jewellery made of precious metals has high value due to:

. Rare and exquisite design and inherent value of material
. Reputation and fame of its earlier owners

. Demand by the international auction houses

. Mortgage value of it to museum during financial crisis
1) 1

) 2

3) 3

4) 4
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(4) 4
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1[Option ID=7021]
2[Option ID=7022]
3[Option ID=7023]
4[Option ID=7024]
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Which of the following is not a criterion used for authentication of objects?

Price

Style
Provenance
Period

L
2

3.
4.
1) 1
(2) 2
(3) 3
(4) 4
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2[Option ID=7026]
3[Option ID=7027]
4[Option ID=7028]




Sl. No.8
QBID:166008

You own antique coins and are appointed in charge of numismatics collection at a museum. What is ethically
right for you?

1. Donate your collection to the museum
2. Disclose about your coin collections to the employer
3. Sell your collection to the museum
4. Exchange it with that of the employer
1 1
(2) 2
3) 3
4) 4
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(1) 1
(2) 2
3) 3
(4) 4

1[Option ID=7029]
2[Option ID=7030]
3[Option ID=7031]
4[Option ID=7032]

Sl. No.9
QBID:166009

Disposal of art objects means:

1. Augmentation of collections
2. Properly store the objects
3. Physical removal of the objects
4. Loaning the objects
(1) 1
) 2
3) 3
(4) 4
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(1) 1
(2) 2
(3) 3
4) 4
1[Option ID=7033]
2[Option ID=7034]

3[Option ID=7035]
4[Option ID=7036]

Sl. No.10
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The Getty Art History Information Programme relates with:

1. AITF
2. CHIN
3. GAHI
4. AHIP
1)1
(2) 2
3) 3
(4) 4
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3[Option ID=7039]
4[Option ID=7040]
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QBID:166011

In CIDOC-CRM CRM means:

1. Conceptual Reference Model
2. Computerized Reference Model
3. Classified Reference Model
4. Cataloguing Reference Model
(1) 1
) 2
(3) 3
(4) 4
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1)1
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3) 3

4) 4

1[Option ID=7041]
2[Option ID=7042]
3[Option ID=7043]
4[Option ID=7044]

Sl. No.12
QBID:166012

Which of the following is the most important administrative record of museum collections in terms of ownership
Ly ]

. Loan Register

. Accession Register
. Movement Register
. Catalogue Card

1) 1

(2 2

(3) 3

(4) 4
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1[Option ID=7045]
2[Option ID=7046]
3[Option ID=7047]
4[Option ID=7048]

Sl. No.13
QBID:166013

The main focus of 'Didactic Exhibition' is:

1. Learning

2. Entertainment

3. Aesthetic Pleasure
4. Image Building

(1)1

(2) 2

3) 3
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(1) 1

(2) 2

(3) 3

(4) 4

1[Option ID=7049]

2[Option ID=7050]

3[Option ID=7051]
4[Option ID=7052]

Sl. No.14
QBID:166014

Which of the following is an example of 'Systematic Exhibition'?

1. Harappan Civilization
2. Type of birds
3. Indian Buddhist Art exhibition

4. Environment Pollution

1) 1
() 2
3) 3
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(1) 1

(2) 2

(3) 3

(4) 4

1[Option ID=7053]

2[Option ID=7054]

3[Option ID=7055]
4[Option ID=7056]

Sl. No.15
QBID:166015

Who amongst the following wrote 'Hands on exhibition - Managing Interactive Museums and Science Centre?

1. Gary Edson
2. Roger Miles
3. Eilean Hooper-Greenhill
4. Tim Caulton
(1) 1
(2) 2
3) 3
(4) 4
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1[Option ID=7057]
2[Option ID=7058]
3[Option ID=7059]
4[Option ID=7060]

Sl. No.16
QBID:166016

What is the full form of VMIS?

.

1. Visual Museum of Information Science
2. Virtual Museum of Images and Sound
\I.

3. Vietnam International Museum Science
4. Vienna Museum of Information and Science
1 1
(2) 2
(3) 3
(4) 4
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1) 1
) 2
(3) 3
(4) 4

1[Option ID=7061]
2[Option ID=7062]
3[Option ID=7063]
4[Option ID=7064]

Sl. No.17
QBID:166017

Which of the following intelligence is highly developed in sailors?

1. Body-kinesthetic
2. Interpersonal
3. Linguistic
4. Spatial

1)1

(2) 2

3) 3

(4) 4
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1[Option ID=7065]
2[Option ID=7066]
3[Option ID=7067]
4[Option ID=7068]




Sl. No.18
QBID:166018

Which of the following statements about learning in museums is correct?

1. Museums have homogenous audiences
2. Museum experience is usually volitional
3. Museums deal with ineremental learning
4. Museum learning is generally educatorled
(1) 1
(2) 2
(3) 3
(4) 4
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1[Option ID=7069]
2[Option ID=7070]
3[Option ID=7071]
4[Option ID=7072]

Sl. No.19
QBID:166019

Exhibitions mounted on buses or a vehicle are called:

1. Travelling exhibitions
2. Mobile exhibitions
3. Circulating exhibitions
4. Special exhibitions
1)1
2) 2
3) 3
(4) 4
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1[Option ID=7073]
2[Option ID=7074]
3[Option ID=7075]
4[Option ID=7076]

Sl. No.20
QBID:166020

Which from the following groups of people benefit most from 'print transcript of taped tours and information'?

1. Deaf and hearing-impaired people
2. Visually impaired people
3. People with mobility difficulties
4. People with learning difficulties
1) 1
(2 2
(3 3
(4) 4




?Hﬁrrﬁ@aﬁﬁcﬁri o AT 1 g ArE1s Ud a1 & <0 fobdl T Hfsd o aror o Haiided drHii-ad gidi

1. S8 3R Hqur-aTied anT

2. = SIied @i

3. - § HIgAR ard di
4. S{fATH HfGARE ard ant

1)1
(2) 2
(3) 3
(4) 4

1[Option ID=7077]
2[Option ID=7078]
3[Option ID=7079]
4[Option ID=7080]

Sl. No.21
QBID:166021

The journal 'Conservation of Cultural Property in India' is publizhed by:

. Archacological Survey of India

. Department of Museology, The MS University of Baroda
3. Indian Association for the study of conservation of cultural property in India
4. National Museum Institute of Art History, Musieology and Conservation

(1) 1

(2) 2

3) 3

(4) 4
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1[Option ID=7081]
2[Option ID=7082]
3[Option ID=7083]
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Sl. No.22
QBID:166022

Recommended level of illumination for coloured photographs is:

200 lux
150 lux
100 lux
50 lux

1) 1
(2) 2
(3) 3
(4) 4
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1[Option ID=7085]
2[Option ID=7086]
3[Option ID=7087]
4[Option ID=7088]

Sl. No.23
QBID:166023

R. Sengupta was awarded 'Padamshri' because of his work at:

1. Bamiyan
2. Ajanta
3. Elephanta
4. Humayun's Tomb
1)1
) 2
(3) 3
(4) 4
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1[Option ID=7089]
2[Option ID=7090]

3[Option ID=7091]
4[Option ID=7092]

Sl. No.24
QBID:166024

The process where conservation status of objects is recorded is known as:

1. Curative Conservation
2. Preventive Conservation
3. Preliminary examination
4. Conservation audit

(1)1

(2) 2

(3) 3

(4) 4
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1[Option ID=7093]

2[Option ID=7094]

3[Option ID=7095]
4[Option ID=7096]

Sl. No.25
QBID:166025

Which of the following is an example of Preventive Conservation?

1. Removal of malignant patina
2. Proper storage of objects
3. Remowal of soluble salts
4. Lining of paintings
1 1
(2) 2
3) 3




(4) 4

fafafaa ¥ oiH-a1 FoRe TR $133eu 8 2

1. Ugut oA (malignant patina) ®T JYIH I
2. GEI3H BT YT USRI
3. facig 40 (TaUN) T gYFHRUl
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1)1
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3) 3
4) 4

1[Option ID=7097]
2[Option ID=7098]
3[Option ID=7099]
4[Option ID=7100]

Sl. No.26
QBID:166026

Paper pulp technique is used in the conservation of:

1. Bone and Ivory

2. Stone

3. Glass

4. Miniature Painting
(1)1

@) 2

3) 3

(4) 4
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(2) 2
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(4) 4
1[Option ID=7101]
2[Option ID=7102]

3[Option ID=7103]
4[Option ID=7104]

Sl. No.27
QBID:166027

In order to identify the salt accumulation over a sculpture, which of the following techniques is used?

1. FTIR
2. XRD
3. Photogrammetrty
4. TGA
1) 1
(2) 2
(3) 3
(4) 4
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1[Option ID=7105]
2[Option ID=7106]




3[Option ID=7107]
4[Option ID=7108]

Sl. No.28
QBID:166028

"Age less” used in museums contains which of the following metal?

. Fe
. Cu
.Zn
.Pb

1 1
(2) 2
3) 3
(4) 4
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1. T8 (Fe)
2. dTH (PTUR) (Cu)
3. 5@ (Zn)
4. T (Pb)
1) 1
) 2
(3) 3
(4) 4
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1[Option ID=7109]
2[Option ID=7110]
3[Option ID=7111]
4[Option ID=7112]

Sl. No.29
QBID:166029

CPM is:

1. Critical Path Method
2. Critical Path Management
3. Critical Project Management
4. Crisis Path Management
(1) 1
(2) 2
3) 3
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(2) 2

(3) 3

(4) 4
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1[Option ID=7113]
2[Option ID=7114]
3[Option ID=7115]
4[Option ID=7116]

Sl. No.30
QBID:166030

The ultimate level of responsibility of IGRMS, Bhopal lies with the

1. Director
2. Executive Couneil
3. Society (Samiti)
4. Standing Committee
(1) 1
) 2
(3) 3
(4) 4
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1[Option ID=7117]
2[Option ID=7118]
3[Option ID=7119]
4[Option ID=7120]

Sl. No.31
QBID:166031

The mission statement of a museum explains:

1. What the museum does?

2. How the museum carries out its functions?
3. Why the muscum exists?

4, How decisions will be made?

(4) 4
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1[Option ID=7121]
2[Option ID=7122]
3[Option ID=7123]
4[Option ID=7124]

Sl. No.32
QBID:166032

Which of the following is considered the best deterrent against daytime thefts and vandalism in museum
galleries?

1. Barriers or ropes
2. Movement detectors
3. Carpet strips to indicate the visitor route
4. Invigilators
1)1
@) 2
3) 3
(4) 4
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(1) 1
(2) 2
(3) 3
(4) 4

1[Option ID=7125]
2[Option ID=7126]




3[Option ID=7127]
4[Option ID=7128]

Sl. No.33
QBID:166033

The admission fee policy of most government museum in India is based on:

1. Profit making purpose
2. Recovering full cost of operation
3. Affordability of the offerings
4. Value of offerings
1)1
2) 2
(3) 3
(4) 4
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1[Option ID=7129]
2[Option ID=7130]
3[Option ID=7131]
4[Option ID=7132]

Sl. No.34
QBID:166034

In market research, the attitude scale that consists of a series of bipolar adjectives (good/bad. like/dislike)
anchored on an odd-numbered continuum is called:

1. Semantic Differential Scale
2. Importance Scale
3. Behaviour Intention Scale
4, Rank-Order Scale

(1) 1

(2) 2

(3) 3

(4) 4
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1[Option ID=7133]
2[Option ID=7134]
3[Option ID=7135]
4[Option ID=7136]

Sl. No.35
QBID:166035

If a museum is using synchromarketic it implies that it is facing the problem of:

1. Declining demand
2. Full demand
3. Irregular demand
4. Overfull demand
(1) 1
(2) 2
3) 3
(4) 4
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(1) 1
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1[Option ID=7137]
2[Option ID=7138]

3[Option ID=7139]
4[Option ID=7140]

Sl. No.36
QBID:166036

Which of the following characteristics of a service has implication in terms of quality?

1. Intangibility
2. Inseparability
3. Variability
4. Perishability
(1) 1
@) 2
3) 3
(4) 4
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(1) 1
(2) 2
(3) 3
4) 4
1[Option ID=7141]
2[Option ID=7142]

3[Option ID=7143]
4[Option ID=7144]

Sl. No.37
QBID:166037

World Heritage Convention is another name for :

1. Convention for the safeguarding of the Intangible Cultural Heritage

2. Convention as on International Trade in Endangered species of Wild Fauna and Flora
3. Convention concerning the protection of the world cultural and natural heritage

4. International charter for the conservation and restoration of monuments and sites

1) 1
(2) 2
3) 3
(4) 4
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) 4

1[Option ID=7145]




2[Option ID=7146]
3[Option ID=7147]
4[Option ID=7148]

Sl. No.38
QBID:166038

As per the Wildlife Protection Act 'sinew’ is a form of:

1. Nest
2. Trap
3. Meat
4. Weapon
1) 1
(2) 2
3) 3
(4) 4
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1)1
(2) 2
(3) 3
(4) 4
1[Option ID=7149]
2[Option ID=7150]

3[Option ID=7151]
4[Option ID=7152]
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QBID:166039

According to Wildlife Protection Act 'Live Stock' means:

. Vegetation, herbs, shrubs ete.
. Sheep, yak, cow, camel, horse, etc.
3. Poultry
4. Genetically modified seeds
(1)1
(2) 2
3) 3
(4) 4
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1[Option ID=7153]
2[Option ID=7154]
3[Option ID=7155]
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Sl. No.40
QBID:166040

How many Wild Heritage Sites are there in India?

o e
=T = ]

R AT e
~1

1)1
(2) 2
(3) 3
(4) 4




YRd | o 3y sRige @ g 2

B
L]

&)
(1) 1
(2) 2
3) 3
(4) 4
1[Option ID=7157]
2[Option ID=7158]

3[Option ID=7159]
4[Option ID=7160]

Sl. No.41
QBID:166041

Which of the following new concepts were added in the museum definition of 20227

A. Humanity

B. Sustaiability

C. Inclusive

D. Community participation
E. Researches

Choose the correct answer from the options given below:

A.Dand E only

.B.Cand D only
3.B.,DandE only
4. A, B and C only

1

) 2

3) 3

(4) 4

FafaRad o 4 1o S[auRums{l ®1 2012 H YYGIC &1 GRUNT H SIIST 747 U 2

ko =

< feu e fawedl F O Y6l SR &1 =0 Sifoe:

1.%ad A, D.E
2. $dd B, C,D
3. $ddB,D,E
4. PAA A, B.C

1) 1

() 2

(3) 3

4 4

1[Option ID=7161]

2[Option ID=7162]

3[Option ID=7163]
4[Option ID=7164]

Sl. No.42
QBID:166042




Which of the following are the primary functions of a museum?

A. Marketing
B. Exhibition
C. Management
D. Conservation
E. Acquisition

Choose the correct answer from the options given below:

1.A, CandB only
2.B.Cand D only
3.A.Dand B only
4, B, D and E only

1) 1

) 2

3) 3

4) 4

FEfaf@a S I oY te Uy & TUAT S | 2

A. fguuH
B. Tegit
C. UgYyT
D. &0

E. JfERIg
=i faU U fadhetl & ¥ el 3R BT 99 Bifolt:

1.$Padd A, C. B
2. $ad B, C,D
3. %A A, D.B
4. $dd B, D, E

1) 1

) 2

(3) 3

(4) 4

1[Option ID=7165]
2[Option ID=7166]
3[Option ID=7167]
4[Option ID=7168]

Sl. No.43
QBID:166043

Which of the following are preventive conservation methods ?

A Protect objects from harmful effects of light

B. Protect antiquities from dust

C. Ensure reversibility of conservation

D. Prevents infestation by pest

E. Check for any apparent signs of damage and changes on objects.

Choose the most appropriate answer from the options given below:

1.A B.Cand D only
2. A, Cand D only
3.B,Cand D only
4. A.B.D. and E only
(1) 1
(2) 2
(3) 3
(4) 4




FraR® I fafiaf Fefafag sd s &

A.W%WHW?}W%

B. QRG] D1 §d I §41d] &

C. TR0 F1 gfaafiar &1 GRfd F=dl &

D. AR Siidl R SiqaTeT ¥ a1 §

E. SAlpIadl § g dTd &R0 d 9aaid Dl G&l

i fdu 7T faeetl ¥ ¥ Ia 9Ugdd 9Tk D1 94 HIIg:

1.PAd A, B.C.D
2. BAA A, C.D
3. $ddB.C.D
4. PAAA.B.D,E

1) 1

) 2

(3) 3

(@) 4

1[Option ID=7169]

2[Option ID=7170]

3[Option ID=7171]
4[Option ID=7172]

Sl. No.44
QBID:166044

Which of the following are used for storage at museums?

A Solander Boxes
B. Cabinets

C. Dioramas

D. Shelves

E. Trolleys

Choose the most appropriate answer from the options given below:

AB and D only
.B.C.D and E only
3.A. BandConly

4, A,C,Dand E only
(1) 1
(2) 2
3) 3
(4) 4

Tugay ¥ Hofaiad 1§ 3 ferge vaim Ysru & fou fear s g 2

A. FIAUER g9
B. Bfae

C. Sl

D. Yeh

E. gieit

19 feu e faseul § ¥ 9ad Sugad SR &1 99 Sifoie:

1.$add A, B.D
2. %4dB,C,D.E
3. %AA A, B, C
4. $Ad A, C,D,E

(11

(2) 2

(3) 3

(4) 4

b =

1[Option ID=7173]
2[Option ID=7174]
3[Option ID=7175]
4[Option ID=7176]

SlI. No.45
QBID:166045




Collection Holding Area should be accessible to

A. Curator

B. Technician
C. Public

D. Janitors

E. Researcher

Choose the most appropriate answer from the options given below:

1.A, Cand D only
2.A B.DandE only
3.B.C.Dand E only
4, A, B and C only

1) 1

) 2

(3) 3

(4) 4

e 3@ aral ®H HEfeied 5 9 fead for g g =meu 2

A. GBI
B. d@AI® ! HHART
C. 3
D. UfdER @)
E. Sieadr
= f4u U fasmedl ¥ O 9ad SUad IRk &1 944 BIfold:

1.$ad A, C,.D
2. $dd A, B.D,E
3. %ddB.C.D,E
4, HAAA,B.C

1) 1

(2 2

(3) 3

(4) 4

1[Option ID=7177]
2[Option ID=7178]
3[Option ID=7179]
4[Option ID=7180]

Sl. No.46
QBID:166046

Which of the following are related to documentation of museum objects:

A. JATAN

B. CIDOC

C. SPECTRUM
D. SPSS

E. STAT

Choose the correct answer from the options given below:

.A. B and C only
.B, C and D only
. B, C and E only
.A.Band D only
)1
(2 2
(3) 3
(4) 4

W I =

=




FafaRad 4 O - GUgray o1 aegsil & 0 4 Eid g 2

A. ST UTH. (JATAN)

B. T1.3113 31,3791 (CIDOC)

C. q.4t.3.41.81.3R g UA. (SPECTRUM)
D. UTH.Ul.UH.UY. (SPSS)

E. TH.1UEL (STAT)

Hid ToU TTU f[9eed| § O Uel 3R &1 994 il
1.hdd A, B. C

1[Option ID=7181]
2[Option ID=7182]
3[Option ID=7183]
4[Option ID=7184]

Sl. No.47
QBID:166047
o

Which of the following are elements of museum documentation system?

A. Accession Number
B. Gallery Sheet

C. Accession register
D. History files

E. Field notes

Choose the most appropriate answer from the options given below:

1.A. B.Cand D only
2.A,CandE only
3.A.C.Dand E only
4. A, Cand D only

1 1

(2) 2

3) 3

4) 4

FHfafEa d O oH SUeey Sdeieu gaR & dd § 2

A. B &=

B. THYI-0a® (TeRl-Tie)
C. SHTERUI IR

D. Sfdg BIgad

E. BIU&H o Ale

=it e 1Y faeped! © § He SUYH IR 1 99 B

1.$dd A, B.C.D
2. $Ad A, C,E
3. Hdd A, C,D.E
4. PAdA, C.D
1) 1
() 2
(3) 3
(4) 4

1[Option ID=7185]
2[Option ID=7186]




3[Option ID=7187]
4[Option ID=7188]

Sl. No.48
QBID:166048

Advantages of 'Fibre optic' lighting are:

A. Tt does not produce heat
B. It is casy to install

C. It does not emit UV

D. Less expensive

E. It is safe

Choose the correct answer from the options given below:

A, Cand E only
.B.CandD only
A, DandE only
.C.Dand E only
(1) 1
(2) 2
3) 3
(4) 4

PR AT AT H AR :

A. U8 31 3T el IRdl §

B. U8 JHfIFIG H3- § TRA gl &
C. Te gdl (UV) Tl el Pl @
D. T B AT B1dl §

E. T8 Qi gl 8

i feu Tt faeedl o ¥ Hol SR B 904 DIio:

1.Pad A, C.E
2. $dd B, C,D
3. PAAA,D,E
4.$adC,D.E

1) 1

(2) 2

(3) 3

(4) 4

P S ]

1[Option ID=7189]
2[Option ID=7190]
3[Option ID=7191]
4[Option ID=7192]

Sl. No.49
QBID:166049

Which of the following are a part of the Production Stage' of an exhibition development?

A, Setting goals for the exhibition

B. Building the exhibition parts

C. Selecting exhibit ideas to develop

D. Putting promotional plan into action

E. Mounting and installing objects in the exhibition.

Choose the correct answer from the options given below :

1.A BandD only
2.B.Aand C only
3.B.Dand E only
4. A, D and C only

1

(2) 2

3) 3

(4) 4




ferdt yeui-l 9@ o Sde sEar & Y Fgif@dddeaa g9

A. TR & o @eg faffa @

B. W& & Y &1 A0 S

C. MeRH Ayl ®i [dewid S & g g1
D. VIRIHE Ao &l Y H gRUd S
E. UGS § a¥ 31l &1 SRIY0] Ud I

< feu e faw el § ¥ 96l SR &1 =0 Sifo:

1.%add A, B.D
2. BAdA B, A, C
3. %90 B, D,E
4. PFAAA, D, C

1) 1

(2) 2

(3) 3

(4) 4

1[Option ID=7193]
2[Option ID=7194]
3[Option ID=7195]
4[Option ID=7196]

Sl. No.50
QBID:166050

Which of the following are related to 'Balance’ in exhibition design?

A. Symmetrical
B. Asymmetrical
C. Rotational

D. Rhythm

E. Unity

Choose the correct answer from the options given below:

1.D.A and B only
2. A BandConly
3.C.Dand B only
4, A, D and C only

1) 1

(2) 2

3) 3

(4) 4

TERH Sififped H e & 9 FEfarad § 4 o 3 YEia g 2

A Fafirdg
B. AT
C. guHTHS

D. g
E. Uthd

i feu e famedl H 9 gl 3R &1 994 Il

1.$dd D, A. B
2. AT A, B, C
3.%dd C. D, B
4. $dd A, D, C

(1) 1
(2) 2
(3) 3
(4) 4
1[Option ID=7197]
2[Option ID=7198]

3[Option ID=7199]
4[Option ID=7200]

Sl. No.51
QBID:166051




What should a person, who wants to get detailed information about any particular collection, refer 7

A. Catalogues

B. Journals

C. Guidebook

D. Annual reports
E. Newsletters

Choose the correct answer from the options given below:

1. Aand B only
2. A, Band D only
3.B.CandE only
4, A, B. Cand D only
1) 1
2) 2
3) 3
4) 4

o) i T & el & gl T ) 3 vy v

A. THean
B. oA

C. S
D. aifiie R

E. G
=1 faU TU fadheul & ¥ el IR T 99 BIuL:

1. $ad A IR B

2. HAAA, B IR D

3. %dd B, C ARE

4. FAAA,B,C IR D
1) 1
) 2
3) 3
(@) 4
1[Option ID=7201]
2[Option ID=7202]

3[Option ID=7203]
4[Option ID=7204]

Fafafaa |5 9 fge ey darafgu |

Sl. No.52
QBID:166052

Which of the following activities are undertaken before educational visits of school children to a museum?

A. Linking school curriculum and museum resources
B. Teachers preparatory visit to the museum

C. Booking the visit

D. Class preparation

E. Group talk and using the worksheets

Choose the correct answer from the options given below:

1.A Band E only
2.B.Cand D only
3.A,B.Cand D only
4.A.B.C,DandE

1 1

(2) 2

3) 3

(4) 4




el gt @1 el TosTa @t Qeifore aan & gd FefR@a f I s A eniean A o € 2

A. TPl UTeT9d! U4 SO ST Bl SiigAl
B. &bl gRT daRt Yeel YUsg gt

C. TEn & forg g

D. &1 I IR AT

E. 94g araiad 3R SRIUAS &1 W

< feu e faw el § ¥ 96l SR &1 =0 Sifo:

1.Had A, B IR E
2. %ad B, C ARD
3. $ad A, B, C AR D
4.A.B,CD3RE

) 1

2 2

@) 3

(4) 4

1[Option ID=7205]
2[Option ID=7206]
3[Option ID=7207]
4[Option ID=7208]

Sl. No.53
QBID:166053

Environmental control in museum involves:

A, Use of Lux metre

B. Use of Burglar Alarm

C. Use of Whirling Hygrometer

D. Use of RFID Card as accession number
E. Use of UV metre

Choose the most appropriate answer from the options given below:;

A, Band D only
A, Cand E only
A, BandE only
A,B.CandD only

B

(1) 1
(2) 2
(3) 3
(4) 4

ueTery § ugfaruiig = 8 fueT wai fear o § 2

A. G Hiex &1 9gM

B. IR °ct &1 UanT

C. YU SRR &1 WA

D. ARUGSTS BIS BT HTH I & =9 H uaiT
E. g4l Hiex &1 wnT

19 fqu e faseul § ¥ 9ad Suged S &1 99 Bifoie:

1. $ad A, B 3R D
2. HBAAA, C IR E
3. %dd A, B 3R E
4. AT A, B, C3HRD

1

) 2

@3) 3

@) 4

1[Option ID=7209]
2[Option ID=7210]
3[Option ID=7211]
4[Option ID=7212]

Sl. No.54
QBID:166054




The deterioration problems shown by Palm-leaf manuscripts are:

A. Separation of layers
B. Loss of Flexibility
C. Fungal Growth

D. Loss of Ink

E. Tears

Choose the correct answer from the options given below:

.B.A.Cand D only

.B. C.D and A only
3.B.C.Dand E only
4,B,D.Aand E only

(1) 1

2) 2

(3) 3

(4) 4

ASYA UigIToal & 39em &1 GO &

A. TRl DI JYTH BRI
B. GUIdY &1 g
C. Bad Tl

D. WTel &1 T

E. Bl

i feu e faw el & ¥ 96l SR &1 997 Bifog:

1.$dd B,A, C,D
2. $ad B,C,D.A
3. %dAB.C, D, E
4, 9dd B, D, A, E

1) 1

) 2

(3) 3

(4) 4

b2 =

1[Option ID=7213]
2[Option ID=7214]
3[Option ID=7215]
4[Option ID=7216]

Sl. No.55
QBID:166055

Following are the treatments for Bronze:

A. Zinc Dust Method

B. Treatment with Benzotriazole

C. Use of Thio Urea Dip

D. Application of Parloid B72 as protective coating
E. Low potential electrochemical method

Choose the most appropriate answer from the options given below:

1. A, B, Cand D only
2. A, B.DandE only
3.A,C,DandE only
4. A, B and C only

1

) 2

(3) 3

4) 4




S Bl IYIR FMHfaRad # fob= [afeai gr1 fpar Sirar g 2

A. TS s fafy

B. dullfcarsiid & 9y 3u=R

C. UTgl gian {89 &1 v

D. R&UTHD AU & TG H WRIARIS B72 B SATHINT
E. (9 fqyagead gdacib i d fafd

i fau 71U fab el § U gl 3R &I 99 BHIfoe:

1. $dd A, B, C 3R D
2. $9d A, B.D 3R E

3. Hdd A C.D3RE
4. PAA A, B.C

(1) 1
(2) 2
(3) 3
(4) 4

1[Option ID=7217]
2[Option ID=7218]
3[Option ID=7219]
4[Option ID=7220]

Sl. No.56
QBID:166056

Which of the following are parts of an insect's life cycle ?

A. Adult
B. Larva
C. Embryo
D. Pupa
E.Egg

Choose the correct answer from the options given below:

.E, B and A only
.C,D and A only
.E, D and B only
.E,A,Band D only
1) 1

(2 2

(3) 3

(4) 4

S R




fFafafad ¥ 9 3u1-991 U ®ic & Silgd 9 & YT g 2

A. IO
B. &ral
C. Uil

D. Ul
E. 3&l

i fau 71U fab el § U gl 3R &I 99 BHifoe:

1. Hdd E.B. A
2. $4dC,D. A
3. HddE, D, B
4. HAAE.A.B.D

(1) 1
(2) 2
(3) 3
(4) 4
1[Option ID=7221]
2[Option ID=7222]

3[Option ID=7223]
4[Option ID=7224]

Sl. No.57
QBID:166057

Which of the following are examples of single-use plans ?

A. Policies

B. Annual Budget

C. Advertising Campaign
D. Mission Statement

E. Project

Choose the correct answer from the options given below.

. A, Cand E only
.B, C and E only
.A. CandD only
.B, C, D and E only

1)1
(2) 2
(3) 3
(4) 4

e ST ISl & 3aleryl HufaEad § 4 &1 g 2

A, Hifer

B. A& doic

c. fagmaq st
D. &0 HUT

E. GRASHT

i fAu T Aol H 9 gl IR 1 90 HIfT:

1. FUTA, C 3IRE
2. ®HYTB, C 3R E
3. PHYTA, C3IRD
4. %Y9B.C.D 3RE

1) 1

e d D —




() 2
3) 3
(4) 4
1[Option ID=7225]
2[Option ID=7226]

3[Option ID=7227]
4[Option ID=7228]

Sl. No.58
QBID:166058

Rewards that have monetary value for employees are;

A. Intangible rewards
B. Tangible rewards
C. Intrinsic rewards
D. Extrinsic rewards

Choose the correct answer from the options given below:

1. Aand C only
2. B and C only
3. B and D only
4. A and D only

1)1
(2) 2
(3) 3
(4) 4

d REDR S HHARAT & 7T Hifed Hed B Hg< Wdd 6, d o

A. 3Hd JRPR

B. i &R

C. 3fHd PR

D. 98] RWHR

= feu e fasett & @ W6 IR &1 904 S

1. Fad A 3R C
2. FAAB AR C
3. HadB 3R D
4. FIAA3RD

(1)1
(2) 2
(3) 3
(4) 4

1[Option ID=7229]
2[Option ID=7230]
3[Option ID=7231]
4[Option ID=7232]

Sl. No.59
QBID:166059




Museums eligible to receive grants under Museum Grants Scheme of the Ministry of Culture, Government of
India can apply for grants for :

A. Acquisition of Art objects

B. Purchase of equipment

C. Conservation projects

D. Installation of roof top solar system
E. Annual maintenance budget

Choose the correct answer from the options given below:

LA, B, Cand D only
A, Cand D only
.B. Cand D only
.B.C.D and E only
1 1

2) 2

(3) 3

(4) 4

S0 HATT, YRT SRPR BI UG &M UiaHl & SHeid SEH UId B3 &1 el dld $9ge’d
o o 9§ 5w giem & [T 3EH 8q SMaeT PR IBAE 2

A. o aEg3 & HETEU B

B. SUSBN &1 @IS 8q

C. TR&UT URATSHIS 8

D. Bd & $HUR IR Red TaH g
E. alites [EREmE goie

- feu e faw el | ¥ 96l SR &1 997 Fifog:

1. $GAA, B, C 3R D
2. HBAAA, C IR D
3.%ad B, C 3R D
4. FaAB,C,.D AIRE

1) 1

) 2

3) 3

@) 4

b =

E ]

1[Option ID=7233]
2[Option ID=7234]
3[Option ID=7235]
4[Option ID=7236]

Sl. No.60
QBID:166060

Which of the following are intangible products offered by a museum ?

A Exhibition catalogues
B. Exhibitions

C. Replicas

D. Lectures

E. Conservation services

Choose the correct answer from the options given below:

1. A Band C only
2.B.Cand D only
3.C.Dand A only
4.B.Dand E only

1)1

2) 2

(3) 3

(4) 4




ol HURTer GRT Wd S SdT& MadEd T PH YT 2

A, ST FeanT
B. WexHT

C. Uldgpid
D. RS
E. GR&f01 Hard
=14 fau e fdeedl o ¥ Hel 3R &1 90 DI

1.Had A, B IR C
2. %ad B, C ARD
3.%ad C,D AR A
4. HaAB, D IR E

) 1

2 2

3) 3

(@) 4

1[Option ID=7237]

2[Option ID=7238]

3[Option ID=7239]
4[Option ID=7240]

Sl. No.61
QBID:166061

The functions of a Public Relations Department include:

A Press relations

B. Product development

C. Product publicity

D. Product Pricing

E. Corporate Communication

Choose the correct answer from the options given below:

1.B.D and E only
2.C.E and B only
3.D.Band A only
4, A, Cand E only

1) 1

(2) 2

3) 3

(4) 4

SH-Imd fgum & e § S ena o afmfaa e e

A. U9 Iay TS

B. 3dIg &I [

C. IUIE BT YR

D. & BT e YRl
E. DRYRE Tl

i feu e famedl H 9 gl 3R &1 994 Il

1. $GAB, D 3R E
2. HBAAC.E IR B
3.%addD. B 3R A
4. PdAA, C IRE

(1) 1
(2) 2
(3) 3
(4) 4
1[Option ID=7241]
2[Option ID=7242]

3[Option ID=7243]
4[Option ID=7244]

Sl. No.62
QBID:166062




Which of the following are consumer-rooted bases of market segmentation ?

A. Ethnicity

B. Social Class

C. Usage rate

D. Interests

E. Benefits sought

Choose the correct answer from the options given below:

1.B. Cand D only
2. A, Cand D only
3. A, Band D only
4, A, D and E only

1) 1

2) 2

3) 3

4) 4

FAREd O ¥ B 1H 3 SIoR-ES 90 & SUHIRI-IED ARG 2

A. oI
B. GrH1foIe fdpd

C. SUArT &R
D. ==gi
E. Siwsd @M

i feu e faw el & ¥ 96l SR &1 997 Bifog:

1.$aaA B, C AR D
2. HBAAA, C IRD
3.%dd A, B 3R D
4. %97 A, D IRE

1) 1

) 2

3) 3

@) 4

1[Option ID=7245]

2[Option ID=7246]

3[Option ID=7247]
4[Option ID=7248]

Sl. No.63
QBID:166063

Antiquity is defined under

A. The Antiquities and Art Treasure Act

B. The Treasure Trove Act

C. The Ancient Monuments and Archacological Remains and Sites Act
D. The World Heritage Convention

E. The Venice Charter

Choose the most appropriate answer from the options given below :

.Aand C only

A, Band C only
VA, Cand D only
.B.C.D and E only
(1) 1

(2) 2

(3) 3

(4) 4

o L0 D =




RIa%] ®1 9 & gRI ARG 51 T g

D. [3% eRIgX H-1a%H
E. 39 AR

== fau U faeedl 1 ¥ Yad Sued SR &1 99 PIfole:

1. Pad A, C
2. BAA A, B, C
3. WA A, C,D
4.%adB,C,D.E
1) 1
(2 2
(3) 3
(4) 4

1[Option ID=7249]
2[Option ID=7250]
3[Option ID=7251]
4[Option ID=7252]

Sl. No.64
QBID:166064

Which of the following have been in existence for more than 100 years and qualify to be termed as Ancient
Monuments ?

A. Any structure and erection

B. Any article, object or thing detached from a building

C. Portion of land adjoining the site of an ancient monument as may be required for fencing and covering in or
otherwise preserving such monument

D. Any tumulus or place of interment

E. Any article, object or thing which has been in existence for not less than one hundred years.

Choose the most appropriate answer from the options given below:

.B, C,D and E only
.A.Band C only
.A. CandD only
. A, B, DandE only

1) 1
(2) 2
(3) 3
4) 4

fFafaRad # O 307 U= ¥IRS Sed 1 36dl 39dl ¢ S9id dg U1 I 3fIE au § Rda # g |

A. BIS STE1 AT Had

B. bl Ha-1 ¥ ofelil gl s AT, o%d a1 diol

C. T dl UreiF 9IRS & /d Y @il g3 W 1 8T ol 34 $IRS Bl 418 &1 I @b+ 1 T & fele
AR D gl

D. I3 U Ul HDHaR]

E. I3 QM. 9% 31 <ol Sl A1 auf 9 $1f¥d sifkdad gl

HId fau Tt fahedl H 9 99 3UUad IR Bl 994 HIfoTs:

1. $dd B, C.D,E
2. Hdd A, B. C
3.Hhdd A, C.D
4. bdd A, B.D.E

1)1

SN P N pre—




() 2
3) 3
(4) 4
1[Option ID=7253]
2[Option ID=7254]

3[Option ID=7255]
4[Option ID=7256]

Sl. No.65
QBID:166065

Wildlife protection act includes the following:

A. Management of 2005

B. Schedules of protected wild fauna and flora
C. Killing of wildlife in self dense or to save someone

D. Trade in exotic wildlife

E. Exchange of wildlife

Choose the most appropriate answer from the options given below:

1.A, Cand D only
2.B,C.DandE only
3. A, Band D only
4, A, B, Cand E only

(1) 1

) 2

3) 3

(4) 4

qoia TR Sfefgy o g afd 8

A FfEarR &1 va=A

B. WRI&d a0 geufadl Sik Wit &1 Rrsa g
C. HTERET T 71 foodft 1 ga T it a=geil &1 g

D. ATHY® 927 Siia] & TR

E. gviidl &1 fal=dag

i feu U 9ot O § Ha¥ Ugad SR 1 94 Bifoft:

1.Pad A, C,.D
2.%ddB,C,D.E
3. %dA A, B, D
4. PIAA.B,C.E

1) 1

(2) 2

(3) 3

(4) 4

1[Option ID=7257]

2[Option ID=7258]

3[Option ID=7259]
4[Option ID=7260]

Sl. No.66
QBID:166066

Matech List I with List IT

LIST I (Name of the Book) LIST II (Author)

& [Meccobusbgon-Tetd! §  ifon bhsmestnonkil
and Practice

B Mu;eum and Interpretation M [Philip Kotler
of visual culture

o [Mekenns hnnonpmii: OL |AlmaS. Witlin
organizations

D tfhe Mulseum__ ns_h.xstory and IV IDavid Dean
its task in education

Choose the correct answer from the options given below:

1. A-I, B-IV, C-III, D-II
2. A-IV, B-IIL, C-I, D-II
3. A-IV, B-I, C-II, D-TII
4. AL B-IV, C-I, D-II

1) 1




) 2
3) 3
(4) 4

Tail 191 ol 11 9 e Sifore

T I T 11

A m’msn Tl aRr SN €8 L PrEfed gwR A= Ba

% %ﬁuﬂ‘}’a%{wdﬂldw it B

. [ATBTeT BR FH-HIfte
SR e S oL e fasfem

D. e £ v EfasdH

frafefad faeed & 9 98l IR &1 991 DI :

. A-L, B-IV, C-III, D-II
. A-IV, B-III, C-I, D-II
. A-IV, B-I, C-1I, D-III
. AL, B-IV, C-I, D-II
(1) 1
) 2
3) 3
(@) a

b =

EES )

1[Option ID=7261]
2[Option ID=7262]
3[Option ID=7263]
4[Option ID=7264]

Sl. No.67
QBID:166067

Match List I with List IT

LIST I (Object) LIST II (Venue)
A |Didargany Yakshi I |Salarjung Museum
B. |Pistol of Chandrasekhar Azad I1. [National Muzeum
C.  |Shiv Vaman III. [Bihar Museum
D. [Veiled Rebecca IV. [Allahabad Museum

Choose the correct answer from the options given below:

1. A-IV, B-I, C-I1, D-I1I
2. AL, B-1, C-III, D-IV
3. A-I, B-IV, C-III, D-II
4. A-IIL, B-IV, C-11, D-I
1) 1
(2) 2
(3) 3
(4) 4
ol 191 gl 11 9 B Sifere
T 1 FATPIT Tl 11 SUETEd
A [dleRTe gafl L [ows 9asem
B. [de=NER 3Helg & (O I RV 99sey
c. [REarA I [f[§eR TUged
D. [dw Ear IV [SREE YUged
fafaRad [deedl § ¥ Iel 3Tk &1 9+ DIl :

. A-IV, B-1, C-II, D-TII

. AL B-I, C-IL, D-IV
3. A-L, B-IV, C-IIL, D-II
4. AL B-IV, C-II, D-I

11

(2) 2

(3) 3

(4) 4

[

1[Option ID=7265]




2[Option ID=7266]
3[Option ID=7267]
4[Option ID=7268]

Sl. No.68
QBID:166068

Match List I with List IT

LIST I (Term) LIST II (Statement)

Physical presence of all

A |Acquisition I objects in the museum is
compared with records

8 |Awdie o Sets. of data _orga.nized ina
particular svstem

¢ |Data Standard L T%lf transfer of_ ownership
(title) of an object

. |A statement of what data
B |BareShmctie T should be recorded

1. A-I, B-IL, C-III, D-IV
2. A-IV, B-IIL, C-II, D-I
3. AL B-II, C-I, D-IV
4. A-IL B-I, C-IV, D-II

(11

() 2

(3) 3

(4) 4

=1 161 A1 11 ¥ T S

Choose the correct answer from the options given below:

1. A-L, B-IL, C-III, D-IV
2. A-IV, B-III, C-1I, D-1
3. A-III, B-II, C-1, D-IV
4. A-ITL, B-I, C-IV, D-II

(1) 1

(2) 2

(3) 3

(4) 4

1[Option ID=7269]

2[Option ID=7270]

3[Option ID=7271]
4[Option ID=7272]

T 1UG Heit 11 ST
HuETer | T awgel 3l
A |afiEET L |ifde Suff &
SHTRE B S & |
- =21 U=l &1 Teb faf3p
S s I e & gem
a5l 9% & wWIHd Bl
C. [EoTAM® IIL ol
: ) adigd
D. [ETET v, I SR 1
FrafaRad fawedl & I Ogl 3R & 994 B :

Sl. No.69
QBID:166069




Match List I with List IT

LIST I (Type of Exhibition) LIST II (With its features)
A, |Permanent I Ephemeral nature
B.  |Temporary II.  [Mounted on wheels
C. |Portable III. [Built to last for a long period
Can be dismantled,
D.  [Mobile IV.  |carried to another place and
re-erected

Choose the correct answer from the options given below:

1. ATV, B-1, C-II, D-TII
2. A-III, B-IV, C-II, D-I
3. A-IV, B-II, C-I, D-III
4. A-II, B, C-IV, D-1I
1) 1
() 2
3) 3
4) 4
ol 191 gl 11 9 far Sifere
T 1 SR BT ISR 11 S9%! [9=iyane
A R L |3eO®a® Wpid
B. [|3feyrdl I [0fed U2 3G
c. g 1L [alwlate gg i
. R U= o S S
2 e N apar g o e &
ST gl §

frrafatad famed & 9 ¥El IR &1 991 DI -

1. A-IV, B-1, C-II, D-III
2. A-IIL, B-IV, C-II, D-I
3. A-IV, B-1I, C-I, D-ITI
4, A-IIL, B-I, C-IV, D-II

(1) 1

(2) 2

(3) 3

(4) 4

1[Option ID=7273]

2[Option ID=7274]

3[Option ID=7275]
4[Option ID=7276]

Sl. No.70
QBID:166070

Matech List I with List IT

LIST I (Type of orientation
programme)

LIST II (Focus)

A |Onentation Programme

I |Discipline of the museum

B. |Content Programme

II.  |Teaching strategies

Process programme

I Discipline and teaching
" |strategies

Content and Process
Programmme

D.

Policies, activities, resources
of the museum.

IV.

Choose the correct answer from the options given below:

1. A-IV, B-1, C-II, D-III
2. A-IV, B-II, C-II, D-I
3. A-IV, B-I, C-II1, D-TI
4. AL, B-IV, C-I, D-II

1) 1

() 2

(3) 3

(4) 4




Tail 191 gl 11 ¥ fHar Sifere

= laﬂ'@rﬁm FTAH BT = 11 T
A [SHUIHRU DRIHA L [y SR
B. |[qugas) deH 1L [Rreroriig
C |uferar drUwH I |3{REH ud R0 0E
. . |[SETa & Hiadl. e
D.  |[Gugas] Ud Wipal drdpH| IV paTy, T
Frafafad fawed & ¥ W€ IR 31 90 S -
1. A-IV, B-1, C-II, D-III
2. ATV, B-I1L C-1I1, D-I
3. A-IV, B-1, C-1II, D-II
4, A-IT1, B-IV, C-1, D-II
(1) 1
(2) 2
3) 3
(4) 4
1[Option ID=7277]
2[Option ID=7278]
3[Option ID=7279]
4[Option ID=7280]
Sl. No.71
QBID:166071
Match List I with List IT
LIST I (Problems) LIST II (Treatment)
A |Criniren I Zinc Dust method
B. |Leaded Bronze II.  |Thio Urea based dips
C. |Bronze Disease IIT.  |Sodivm Sesqui-carbonate
D. |Tarnishing IV. |Neutral Benzotriazole

Choose the correct answer from the options given below:

1. A-IV, B-1, C-II, D-III
2. AL, B-II, C-III, D-IV
3. A-IL, B-IIL, C-IV, D-I
4. AL B-IV, C-I, D-II

1) 1
(2) 2
(3) 3
4) 4
ol 191 gl 11 ¥ o Bifere
T 1 (G0 T 1 FTER)
A [dlE 3 ®IRES H0A L |fSie g% fafy
B. |20 9o B 1. |urgl gRa1 3 gaF1
C. [@EIm L [Gf5gd 9] dEHe
D. [§&3 (ERHRN BHT IV, |[FIed swicasia
FrafafEd fawedl 1 I Tel 3R &l 994 B :
1. A-IV, B-I, C-II, D-III
2. AL, B-II, C-III, D-IV
3. A-IL B-II, C-IV, D-I
4. AL B-IV, C-1, D-II
11
() 2
(3) 3
4) 4

1[Option ID=7281]
2[Option ID=7282]
3[Option ID=7283]
4[Option ID=7284]

Sl. No.72
QBID:166072




Match List I with List IT

LISTI LISTII
A, |Whirling Pscychrometer I For measuring R.H.
g [F Radwgmphic 0 (b Riling Neles i filios
equipment
C. |Leaf caster III. [For killing insects
D. [Freeze-Dryer IV.  |For seeing below the surface

Choose the correct answer from the options given below:

1. A-IV, B-III, C-I, D-II
2. A-I, B-IV, C-II, D-III
3. A-IIL B-I, C-III, D-IV
4. AL B-II, C-IV, D-I

1) 1

(2) 2

3) 3

4) 4

ol 191 gl 11 ¥ o Bifere

Gl &

A [yl TEEEeR I [3RUG $ AW eq
B. XY (SOUBt UHl 1 |3l gl @f W=
C. [cp PR UL [fenHREE & ©9H
D. [bld- 8RR IV [a%gst & iR o@H 8d

FrafafEd fawedl 1 I Tel 3R &l 994 B :

1. A-IV, B-IIL, C-I, D-II
2. A-L, B-IV. C-II, D-III
3. A-IL B-I, C-III, D-IV
4. AL, B-II, C-IV, D-I

11

(2) 2

(3) 3

(4) 4

1[Option ID=7285]
2[Option ID=7286]
3[Option ID=7287]
4[Option ID=7288]

Sl. No.73
QBID:166073

Match List I with List IT

LIST I (Elements of SWOT
( andivit) LIST II (Examples)
A |Strengths L Underserved Population
B |Weaknesses e lAccessible location of the
museum
C. |Opportunities IIT.  |Inflation
D. |Threats IV. |Inadequate funding

Choose the correct answer from the options given below:

1. A-IL B-IV, C-1, D-III
2. A-II, B-IV, C-III, D-I
3. A-IV, B-II, C-I, D-TII
4. A-IIL B-IV, C-I, D-II

1) 1

(2 2

(3) 3

(4) 4




Tail 191 gl 11 ¥ fHar Sifere

1(SWOT) THS&gHTe!
™ %%u?w%%aa T 11 e
A (=5 (Strength) I |3edear Ui S
B. [(HOIRI (Weakness) 1 [SUgIad & gird i
C.  [3@¥R (Oppotunity) I [Epifd
D [@dl (Threats) IV |erOard Fedma

Ffeiad [depedl © ¥ Hel 3R &1 95 Hifelu -

1. AL B-IV, C-I, D-TII
2. AL B-IV, C-III, D-I
3. A-IV, B-II, C-1, D-TII
4. AL B-IV, C-I, D-II

(11

() 2

(3) 3

(4) 4

1[Option ID=7289]

2[Option ID=7290]

3[Option ID=7291]
4[Option ID=7292]

Sl. No.74
QBID:166074

Match List I with List IT

LIST I (Market Definition)

LIST II (Description )

A, [Potential Market

The set of consumers who
are actually consuming the
product

B. |Available Market

IL

Set of consumers who
profess some level of interest
in a defined market offer

C.  |Served Market

I

The set of consumers who
lhave interest, income and
access to a market offer

D |Penetrated Market

V.

The part of the qualified
available market that the
organization puts efforts into
attracting and serving

Choose the correct answer from the options given below:

1. AL, B-III, C-IV, D-I
2. A-II, B-IV, C-III, D-I
3. A-IIL, B-IV, C-II, D-I
4. A1 B-I, C-IV, D-III

)1

(2 2

(3) 3

(4) 4




Tail 191 gl 11 ¥ fHar Sifere

T 1 TR B TR T 1 0
3 FUHTRTH &1 g, &1
A [GHH SR I [3dG &l dRdldd 0§
SO G B |
3 FUHTEI! & 9HE.
EIREC e ERECIEIES
B, [QUdi® SR i B
3G {98 T Bl &
T g |
3 FTHTEITHI &1 9,
o t@ RT SR &
| 88 III.
o (@es) fe T IeiR ERIFEARIEICA LRI
Uga s |
35 dl U FUcie sTol &l
. [CiEd fpe ML SIS e [HP. e Fe i
[CEECEEITIN TR gfef cufdm) & ferw
AT YT E |
FFrafaRad fdeedl © U 98! 3R &1 98 Hifod :
1. A-II, B-IIL C-IV, D-I
2. AL B-IV, C-IIL, D-1
3. AIIL, B-IV, C-II, D-I
4, A-II, B-L, C-IV, D-III
(1) 1
(2) 2
(3) 3
4) 4
1[Option ID=7293]
2[Option ID=7294]
3[Option ID=7295]
4[Option ID=7296]
Sl. No.75
QBID:166075
Match List I with List IT
LIST I LISTII
& e I Tél;;:z\\ 1ldlife Protection Act,
The Ancient Monuments,
B. |Export of Antiquities II.  |Archaeological Remains and
Sites Act, 1938
C.  |Vermun III. |The ICH convention 2003
- . |The Antiquities and Art
B [Hei ek bloninn i Treasure Act of India. 1972

Choose the correct answer from the options given below:

1. AL B-IV, C-I, D-II
2. A-IV, B-1, C-II, D-III

EEN Y]

(1) 1
) 2
(3) 3
(4) 4

. AL, B-III, C-1, D-IV
. AL, B-III, C-IL, D-IV




Tail 191 gl 11 ¥ fHar Sifere

Rl T 1
A [gUE-&F I algif T TR SR,
O ¥R® 3R Rl
B [qRra¥gai &1 Fafd IL 3@ 3fR = figfEs,
1958
C. |Weldisle . [G 35 41 0d. Ha9H. 2003
4 . |[MRd @ RIEE 3R
R B [ v,
i R BT eI, 1972
Frafafad faeeal & 3 T8l IR &1 997 B -
1. A-IIL, B-IV, C-I, D-II
2. A1V, B-I, C-II, D-III
3. A-II, B-IL, C-1, D-IV
4. A1, B-II, C-11, D-IV
(11
) 2
(3) 3
4) 4

1[Option ID=7297]
2[Option ID=7298]
3[Option ID=7299]
4[Option ID=7300]

Sl. No.76
QBID:166076

Identify the chronological sequence of the establishment of museums:

A. Chattrapati Shivaji Maharaj Vastu Sangharalaya, Mumbai
B. National Gallery of Modern Art, New Delhi

C. Museum and Picture Gallery, Baroda

D. Napier Museum, Thiruvananthapuram

E. Indian Museum, Kolkatta

Choose the correct answer from the options given below:

104G Bl
£

o m
WO
0PN
oo
g w

ES )

1)1
(2) 2
(3) 3
(4) 4

Tygrerdl & el Bleishd Bi ugdr B |

A. BTG RaTsl TeRT aRg S9eTay, 4as
B. A sy Hor Foererd, T faee

C. o US e e, gsiar

D. AfUaR Bfforay, faed-dy=y

E. ST57- Tforgm, pieerdl
< fag 7 fawedl # 9 I6l SR @1 90 Sifve:

.D,A C.B.E
H: 1

[ S

C.A.B
.E.B.A,C,D
.D,A,C.E.B
(11
() 2
(3) 3
(4) 4

Y

1[Option ID=7301]
2[Option ID=7302]
3[Option ID=7303]
4[Option ID=7304]




Sl. No.77
QBID:166077

Identify the correct sequence of insuring a museum object:
A. Go for threat assessment
B. Know risk history

C. Identify the need
D. Find an insurer

E. Get the value of object
Choose the correct answer from the options given below :

1.C,D,A.B.E
b

B
2B
- I,

&-mn
=K
o e

sH
- 1
&

e L

1) 1
(2) 2
(3) 3
(4) 4

YU B a1 B ST DA B Tgl ST B UgdH SIfoIe:

A TR DT AP B

B. SIIT&H & S8R & 94T
C. JMaRgdHdl &1 ggdH

D. §THTEdl & Jars SRl

E. 9% 31l & Hed BT el TET

i feu T fowedl H 9§ 5l 3R &1 994 SIuiE:

.C,D,A,B.E

1
2z

o0 W
EEOL
m&-o
f')Uh'l

LA
= U
5B

&~ 2l

(1) 1
(2) 2
(3) 3
(4) 4
1[Option ID=7305]
2[Option ID=7306]

3[Option ID=7307]
4[Option ID=7308]

Sl. No.78
QBID:166078

Identify the correct sequence of museum documentation.

A Entry Registration

B. Accession Registration
C. Index Card

D. Cataloguing Card

E. Publishing

Choose the correct answer from the options given below :




YUBTd GXIdolHUl & ol &H B gedi-u

A. U3 IoReR
B. TG0 IR

C. SIPHUD (S5 Pl
BTS

D.
E. UBIEH

=i f4u U faeedl § ¥ Yol SR &1 994 DIfg:
1.A.B.C,D.E
2.A,C,B,E,D
3.B,A,D,C,E
4.A.B.D,E,C

1

() 2

(3) 3

4) 4

1[Option ID=7309]
2[Option ID=7310]
3[Option ID=7311]
4[Option ID=7312]

Sl. No.79
QBID:166079

Identify the sequence of conducting 'Formative Evaluation’

A. Modify the exhibit as per the weaknesses discovered or suggestions
B. Build a mock-up of the exhibition

C. Enumerate the weaknesses and suggestions

D. Sample test the mock up

E. Do analysis, observation and interviews

Choose the correct answer from the options given below:

.B,D.E,C,A

(4) 4

RIS Helid- B & 3hH D Hd i

A USHA axgal a1 Ul Wil a1 gl TR SHGlial & S uR SuidiRd $eA]
B. WEXH! S A1 (FHAT) 91

C. DHWIG! Td FATG] B 0] D]

D. T3y (FHAT) BT HicaR] ILI&ur 1

E. fa=ciour, U&7 ud HiamhR &3

< feu e fawedl § 9 96l SR o1 70 Sifo:

1[Option ID=7313]
2[Option ID=7314]
3[Option ID=7315]
4[Option ID=7316]

Sl. No.80
QBID:166080




Arrange in order the basic steps in constructing a worksheet for children.

A. Determine age group, define objectives and choose exhibit.
B. Try the worksheet on the target group, revise and finalize it.
C. Print required number of copies and use them.

D. Determine the need and the type of material required.

E. Develop the content, select images and prepare the worksheet.

Choose the correct answer from the options given below:

.A,D,B,E,C
.D.A,C,B,E

e

(4) 4

T & oy SRITAS S0 999 Uge B aTdl go ST &f S § Fraieyd Sieig:

A. 31 s o1 R, e oy @ 3R wemil &l g1

B. T80 g W S TS &1 WaN ST, GeT ST 3R 59 SHfqq &9 &1
C. HTTHAFIR Uiadl B = Giad BAT SR FAHT TN S

D. 3T A 1 S3d U4 UER &1 AR S

E. v a%g &1 faepRa &=1, 3l &1 904 $3A1 $IR SRITAS ddR Bl

i feu e famedl H ¥ gl 3R &1 994 Il

1[Option ID=7317]
2[Option ID=7318]
3[Option ID=7319]
4[Option ID=7320]

SI. No.81
QBID:166081

Arrange in order the steps involved in treatment of a manuseript.

A. Removal of acidity

B. Filling of holes

C. Opening of damaged binding
D. Numbering of folios

E. Binding of folios

Choose the correct answer from the options given below:
.D,B.AE.C

1
2
3.
4

Loopo
ZoH
W
W
OO

1)1
(2) 2
(3) 3
(4) 4




qiglait & SUER & =RV &l Hel HH H oIaiyd DI

A. ST BT GUFHR
B. &gl &1 U=T

C. =T¥ fSreal &l @la
D. e &1 IATHI
E. T4l &I foieq ol S0

< feu e fawedl § 9 96l SR o1 70 Sifo:

1[Option ID=7321]
2[Option ID=7322]
3[Option ID=7323]
4[Option ID=7324]

Sl. No.82
QBID:166082

Arrange the following metals in the increasing order of activity

A, Copper
B. Zinc

C. Gold
D. Silver
E.Lead

Choose the correct answer from the options given below :

1.B,C,DA,E
2.C,D,A.E.B
3.D,A.C.E.B
4.A.B,E,C,D
(1) 1
(2) 2
3) 3
(4) 4
FafaRad urgst @1 fharaddl & g¢d o § oafyd SIfe:
A dH
B. ST (Toih)
C. A
D. dig!
E. drm
i fAU Y f[dedl o U TEl SR BT 99 BIg:
1.B.C.D,A.E
2.C,D,A.E. B
3. DA, G,E B
4.A,B.E.C,D
1) 1
2) 2
(3) 3
(4) 4

1[Option ID=7325]
2[Option ID=7326]
3[Option ID=7327]
4[Option ID=7328]

Sl. No.83
QBID:166083




Which of the following is the correct sequence of the aims of protection against fire in order of priority?

A. Detect fire

B. Prevent fire from spreading
C. Extinguigh the fire

D. Prevent fire from starting

Choose the correct answer from the options given below :

1.D.A,B.C
2.0, C,A; B
.B,A,D.C
.A,D,C,B
1) 1
(2) 2
(3) 3
(4) 4

T3 F GR&M S [eTY wryfiedl & YR IR el s Fafafea d S A 2
A. 3T 1 9T ST
B. 3 &I B Y A1

C. 31T DI g
D. 3R SieH A1

i feu e fomedl § 9 gl 3R &1 994 Il

Lo

1.D,A,B,C
2.D,C.A,B
3.B,A.D.C
4.A,D,C,B

)1

(2) 2

(3) 3

(4) 4

1[Option ID=7329]
2[Option ID=7330]
3[Option ID=7331]
4[Option ID=7332]

Sl. No.84
QBID:166084

Which of the following is the correct order of steps involved in Public Relations Process?

A. Developing cost effective public relations strategies

B. Identifying the organizations relevant publics

C. Establishing image and attitude goals for the key publics

D. Implementing actions and evaluating results

E. Measuring images and attitudes of the relevant public towards the organization.

Choose the correct answer from the options given below:

1.B.E.A, C.D
2B B CHN1
3.B.CAED
4.C,B,D.E, A

1)1

(2 2

(3) 3




fafeRad § 9 & 91 SH-49d Ufshdr &1 Jgl HH g 2

A. TNTA&H SH-YUd JUHIa! D1 fah g

B. T3 & WIS aldadl &1 ggar H=l

C. YHE Afddadl & fau sfd 3R ded Rud 1

D. Sl D A8 BT SR YRUIH] BT Gedich DAl

E. W16 & Ylid Ui oafdadl & siqdl 3R sifirdfl &1 7rg -1

i fau 71U fab el § U gl 3R &I 99 BHIfoe:

1. B.E.A C. D
2B, ECAD
3.B,C,A.E,D
4.C. B, D, E.A

(1)1

) 2

(3) 3

(4) 4

1[Option ID=7333]
2[Option ID=7334]
3[Option ID=7335]
4[Option ID=7336]

Sl. No.85
QBID:166085

According to the Treasure Trove Act when a treasure is found :

A, Treasure or value of treasure is shared between finder and owner 3/4 : 1/4

B. A notification is given by the collector

C. Finder should inform at the earliest about nature of find, approximate value, date and place

D. Decizion about requirement and retention of treasure by Government to be taken

E. Penalise if the finder of any treasure fails to give the notice or does not either make the deposit or give
the security required.

Choose the correct answer from the options given below:

.B.D.E.A. C

1
2

s a0
ogwEo
abH
mp g
Wt

el

1) 1
(2) 2
3) 3
(4) 4

& ¢R ¢Iq Uae & 3F9R 18 ®is Sor (e frerdt € <t

A. TIoHaT 3R YHard & &id 3/4 : 1/4 & S91a 8§ Fid a1 B & g &1 deart

B. Baigex GRI UG SRI Al

C. THaT B TR W & UPR, SAET Jod, TR 3R ®H & aR § g H1 91ed

D. PR &RT [Y & sHTawusar 3R 3¢ AUHR 1 o & g 1 g o

E. i P 4T &3 a1el 38! g1 o H, 33 T8 B34 91 39 SHaR0® G471 & H 3% d el 6.
dr 38 dfsd B

< feg e fawedl & € 96l SR o1 70 SIS

1[Option ID=7337]
2[Option ID=7338]




3[Option ID=7339]
4[Option ID=7340]

Sl. No.86
QBID:166086

Given below are two statements :

Statement [ : The term Provenance’ deals with the history and ownership of an object after it enters the
museum.

Statement II : It's early ownership history is not important.
In the light of the above statements, choose the correct answer from the options given below.

1. Both Statement I and Statement II are true
2. Both Statement I and Statement II are false.
3. Statement I is true but Statement I is false.
4. Statement I is false but Statement II is true.

(1)1

(2) 2

3) 3

(4) 4

EIERA EAIC A CALR (g

FYA 1 : Y (=) Sueray § i axg & iay 811 & uyTd & siie SR @ifia 9 d&fid gar g
|

BYF 11 : T P WA P TR S8 BT DTS e el el |

SRITd HUH & el &, 713U 70 faeedl & I Gl 3ok &1 994 Bifve:

L BRI 9a g
HYT 1 AR 11 EH! 3T §

3. PYT I I B, AP YT 11 T 8

[ 2]

4. PP e, fPTFUT I T8
(1) 1
(2) 2
3) 3
4) 4
1[Option ID=7341]
2[Option ID=7342]

3[Option ID=7343]
4[Option ID=7344]

Sl. No.87
QBID:166087

Given below are two statements : One is labelled as Assertion A and the other is labelled as Reason R
Assertion A : Museum documentation is an essential part of collection management.

Reason R : It enables the collection to be administered and researched.

In the light of the above statements, choose the correct answer from the options given below.

1. Both A and R are true and R is the correct explanation of A

2. Both A and R are true but R is not the cotrect explanation of A.
3. Ais true but R is false

4. A is false but R is true.

1) 1
(2) 2
(3) 3
(4) 4




19 3 U= U L §: TP MUHYT (Assertion A) & =0 H [AEd T dl GERT 39D PRI (Reason R) &
U

STTUF A : SUETAY SKIGuNHR0l I Ya+- & UP AHard YrT e |
HRUIR : 3T T AT SR IR MY FA S AT B ST ¢ |
IRIGd FYF & ATeF 1, 519 f2u 70 owet & T I8 SR &1 994 P |

A SRR ITE R R, AT Tol TRAT &

A SRR ITE, AT R, AP UG AT T8l &
AFIEAPIR 3T

AIE AR IR

1 1

2) 2

3) 3

(4) 4

R

1[Option ID=7345]
2[Option ID=7346]
3[Option ID=7347]
4[Option ID=7348]

Sl. No.88
QBID:166088

Given below are two statements : one is labelled as Assertion A and the other is labelled as Reason R.
Assertion A ; A key element of online learning strategy should be the social feature.

Reason R : Isolation is one of the most common fears or barriers when it comes to online learning.

In the light of the above statements, choose the correct answer from the options given below.

1. Both A and R are correct and R is the correct explanation of A
2. Both A and R are correct but R is not the correct explanation of A.
3. Ais correct but R is not correct
4. A is not correct but R is correct
1) 1
(2) 2
3) 3
(4) 4

19 &1 Y ST §: U SHBYUT (Assertion A) b FY H [dIldd g dl GHI 3Hb DRI (Reason R) & Y
H:

UHYT A : AT AT OIS &1 T ded AT AfHIcefor g1 =1fe |
HRUT R : A3 AT BT Taiftie JHRT YT T7 36y THIHITT § |
IWRIFI HYF b 3Tl H, Aid ST ¢ fdbedi & 9 gl IR Dl T899 HIfOTT |

1.ASMRREAT I E 3R R A D! g AR &
2. AJRREHI TG, mfa3rf R.ADI IG5l IR ol ©
3. AT g AfPAR 3 ©
4. AT g AfPIR I ©
1) 1
) 2
(3) 3
4) 4

1[Option ID=7349]
2[Option ID=7350]
3[Option ID=7351]
4[Option ID=7352]

Sl. No.89
QBID:166089




Given below are two statements : one is labelled as Assertion A and the other is labelled as Reason R.
Assertion A : Preventive conservation is preferred over curative conservation of a collection.

Reason R : Because preventing conservation does not require any equipment whereas a number of equipments
are required for curative conservation.

In the light of the above statements, choose the correct answer from the options given below.

. Both A and R are true and R is the correct explanation of A

. Both A and R are true but R is not the correct explanation of A.
3. Ais true but R is false
4. Ais false but R is true.

1)1

(2) 2

3) 3

(4) 4

=9 3 U= ST T §: U U (Assertion A) & =0 H A& § Tl GERT 39 PRI (Reason R) &
3q T

@Y A T8 § FaR® WRe0 & FRfed TRem ¥ sifa fear s g |

PRUIR : Fi1eh HaRD T&01 H [l IUSHRV DT SaRTDHdl 751 6ldl & Gaid FgRIcd T 5 1D
SUGIUN BT TSI BN © |

TRIGd HYF $ 3w 1§, 41 3w 70 faweai & 4 98t SR &1 99 Piforu |

LARREFTIT R IRR AT Tel AT R

A SRR ITE, AT R, A D! UEI RS 61 &
ATIE AR T ®
AFIE AP RIA R

1

() 2

3) 3

(4) 4

b2 =

R

1[Option ID=7353]
2[Option ID=7354]
3[Option ID=7355]
4[Option ID=7356]

Sl. No.90
QBID:166090

Given below are two statements : one is labelled as Assertion A and the other is labelled as Reason R.
Assertion A : Marouflage of a painting requires rigid support.

Reason R: The painting support has become weak and can be managed with a loose lining.

In the light of the above statements, choose the correct answer from the options given below.

. Both A and R are true and R is the correct explanation of A

. Both A and R are true but R is not the correct explanation of A.
3. Aistrue but R is false
4. A is false but R is true.

(1) 1

(2) 2

3) 3

(4) 4

|




19 3 U= U L §: TP MUHYT (Assertion A) & =0 H [AEd T dl GERT 39D PRI (Reason R) &
U

@Y A - REGAT®! AW & U 28 SR i awadisidi g |

PRUR : TG BT 3MUYR HASIR & 7471 8 3R 38 ot SR (i) e cuafud faar o gddr &
|

IRIgd BY & AT H, 1 R e foeedi & 3 98l SR 19 Bife |

1.A3MRREF ITE AR R, AT Tol TAT§
2. A 3R R IF GA T, APTR. A B UEI ARATTET ©
3. AT E AP R 3T &
4 AU APIRII S
11
) 2
@) 3
(a) 4
1[Option ID=7357]
2[Option ID=7358]

3[Option ID=7359]
4[Option ID=7360]

Sl. No.91
QBID:166091




Garden or museum ? Place of leisure or research centre ? Open or secretive ? Antique collections or cutting-edge
technology ? Inert objects or living beings ?Nostalgia or science fiction ? Man or Nature ? In fact it is all these
things - just replace the "ors" by "buts" and keep going... You are in the Jardin des Plants, the heart of the
Museum national d'historie naturelle, an institution dedicated to furthering knowledge of planetary diversity.

Natural history describes nature. It forms inventories, names and classifies species. The pivotal mission ascribed
to the Museum is to undertake this major inventory for the purposes of measuring and apprehending biological,
geological and ecological diversity from the past and present. The collections represent its concrete
manifestation. But collecting, naming and classifying serve no purpose unless they are motivated by an
underlying determination to understand the mechanisms governing nature. This is why researchers at the
Museum recreate the genealogy of species and examine the interactions of living beings with their environment
and that of human societies with nature.

What lies behind a fossil ? In the natural sciences. knowledge is built on objects; these become truly meaningful,
however, if information can also be collated on the context in which they were discovered. Shells found in the
heart of the mountains prove that the lands in which they were deposited were once covered by the ocean. By
making it possible to reconstitute events which took place long before the existence of Man, these shells have
become tools for knowledge.

fafafaa e &1 ufeu ok Uy & I ST |

JUA- YT HUGTd 2 AT DI T T QMY b 2 Al 31dT MU 2 QRGN U IT b dH
IS 2 S a¥d a1 Weild Wil 2 TgTdedl A1 fai= 21 2 |44 A1 Uebid 2 a¥dd: 3 g+t il A6 "aigehi”
GRT <3ar T RYFIART B Si1dl § 3R 91 el §... 319 9IRe & Wid § €, Wforas Frfief[1d & Sl
AR & g, YA fafaudr J Hae g b GHdT TR H |

AT e STTET U Il T faaRo1 Ve Sl & | I% S Y, A1 Jel TR SRl & 3R Foilfaat &1
FffHRUI DHRAT | 3 GUSTA B ATYRYA d&d (=) Sifdaia, ﬂﬁaﬁaﬁsﬁwﬁﬂﬁaanaﬁnm@r
ER Ui [Afdedr & A SR dIeRR &4 & ST &9 HHE T dUR Al § | U UG D! 319
Sff¥orfad ueRid ®d § | udd afe dUgul, AHHR0M SR Filru yundidg siHiid Usid &1 9qeH g
S 4y 9 HfHuRd 181 ¢ Al 38 Ied &1 yfd 181 gidl ¢ | ST Wyl Jugrag | eiiid o
Wﬂﬁgﬁ:ﬁgﬂmﬁ%ﬁmﬂﬁmﬁﬁaﬁmﬁwwﬁﬁwuwm A4 GHTS DI 3fcharsi
D gHlET PRI T |

SilaTed & Yl 1 eldiigd gidi & | Wiblde faxi |, avdal ur I (A fobar Siid1 8, 4 arkdd # wiede
Bid ©. T Y1 1 gRdad 39 UgH H faar S gabdl forgd 39! @ist &1 113 1 | uddl & dg H U
Y19 g5 ¥ & g [ (o Y[l 8 51 {hT U 3, 9 Sl AerR 9 srsriad A1 | 34 gedrsil, S #Fa
3{f%id ¥ 9gd Ugd "fed g3 &l 3! U: iord - I A 1Y JH & it SUHR0 S U g |

Museum in the passage refers to:

1. Archaeological museum
2. Eco-museum
3. Natural History museum
4. Modern Art museum
11
2) 2
(3) 3
4) a4

TR & AR YYTay [ay Yeiod g-

1. RIdifedd YT 9
2. 31 GBI ¥
3. Wi gideryd Gugead 9
4. YD Bl UG o
1) 1
(2) 2




3) 3
4) 4

1[Option ID=7361]
2[Option ID=7362]
3[Option ID=7363]
4[Option ID=7364]

Sl. No.92
QBID:166092

Garden or museum ? Place of leisure or research centre ? Open or secretive ? Antique collections or cutting-edge
technology ? Inert objects or living beings ?Nostalgia or science fiction ? Man or Nature ? In fact it is all these
things - just replace the "ors" by "buts" and keep going... You are in the Jardin des Plants, the heart of the
Museum national d'historie naturelle. an institution dedicated to furthering knowledge of planetary diversity.

Natural history describes nature. It forms inventories, names and classifies species. The pivotal mission ascribed
to the Museum is to undertake this major inventory for the purposes of measuring and apprehending biological,
geological and ecological diversity from the past and present. The collections represent its concrete
manifestation. But collecting, naming and classifying serve no purpose unless they are motivated by an
underlying determination to understand the mechanisms governing nature. This is why researchers at the
Museum recreate the genealogy of species and examine the interactions of living beings with their environment
and that of human societies with nature.

What lies behind a fossil ? In the natural sciences, knowledge is built on objects; these become truly meaningful,
however, if information can also be collated on the context in which they were discovered. Shells found in the
heart of the mountains prove that the lands in which they were deposited were once covered by the ocean. By
making it possible to reconstitute events which took place long before the existence of Man, these shells have
become tools for knowledge.

fafeRad e &1 ufeu 3R Uy & IR ST |

3Ud- YAl HUGTAd 2 3AhT DI T T QMY b 2 Hdd 31UdT MUY 2 QRGN g IT Db dH
IR 2 S a¥d a1 oild Uil 2 TRl AT fai 21 2 |4 A1 Uehid 2 a¥dd: A g+t =il A6 "gigehi”
GRI <3ar H YR B Sl g 3R oIkl gl §... 31U 9IRS ¢ Wid H g, R Are{HId g SR
TR & b, YASHY fafdeid I JaeH gd Ud JAftd S H |

e e SIET Wabld 1 [4aRUl UG xdl § | g8 U9g Yl<di, T4 Jdl TaR Sl § SR Yolliai &1

DRl | 3 GUSTR B SYRHT d&d (TR SifdPb Iy, Y 3R Sfciid auT aad= 9
ToiaRufiy fafderdr & A 3R S &9 & YIS gd YW GUE dOR $HRdl § | 3 H9g 39D! 319
Sff¥oTad U RId ®d ¢ | g Al TUGUI, ATHSHRUT SR FH R0 Yullelidsg, SMH=IRd Uphid &l 9HsH §q
Jearaa g 3 AR Tt © df 3% 352 B Yfd e eidl & | ST AMeyehdl JugTad H woiid #1
Wﬁ:ﬁgﬂmﬁ%ﬁiwﬂamaﬁmﬁmwﬁ%ﬂm 3 HI-d GHTS B! Sffebaraii
&I FHIET PRI E |

SilaTRH & Yles 1 Sdl-igd gidl ¢ | Wil A H, avd il U= ;1 (1 faan Sirdn ¢, 4 araa # wede
BId 8. T a1 1 YR I8 A& H a1 ST Habdl forgH 391 @iet B 715 At | uddl & dg H U
g gg ¥ dd g b o gl @ o1 fu e 9, 98 St 9earR 9 sirsricd At | 34 ge-1si, o ara
&I U 9gd Ugd "fed g3 21, 371 U: Yiotd - I 4 U1 3 & fiiT SuaRur s e g |

The museum mentioned in the passage has:

1. only living organisms
2. only meteorites
3. only classical paintings
4. both living and non-living organisms
1)1
(2) 2
3) 3
4) 4




T § SURIad &1 3w fha1 T g

1. had Fuilg witdl & ferg
2. Had e (I [U8) & foru
3. Bad dled dalsf o oy
4. i1fad 3R 3frefifad sftal & fog
1) 1
) 2
3) 3
(@) 4

1[Option ID=7365]
2[Option ID=7366]
3[Option ID=7367]
4[Option ID=7368]

Sl. No.93
QBID:166093

Garden or museum ? Place of leisure or research centre ? Open or secretive ? Antique collections or cutting-edge
technology ? Inert objects or living beings ?Nostalgia or science fiction ? Man or Nature ? In fact it is all these
things - just replace the "ors" by "buts" and keep going... You are in the Jardin des Plants, the heart of the
Museum national d'historie naturelle. an institution dedicated to furthering knowledge of planetary diversity.

Natural history describes nature. It forms inventories, names and classifies species. The pivotal mission ascribed
to the Museum is to undertake this major inventory for the purposes of measuring and apprehending biological,
geological and ecological diversity from the past and present. The collections represent its concrete
manifestation. But collecting, naming and classifying serve no purpose unless they are motivated by an
underlying determination to understand the mechanisms governing nature. This is why researchers at the
Museum recreate the genealogy of species and examine the interactions of living beings with their environment
and that of human societies with nature.

What lies behind a fossil ? In the natural sciences. knowledge is built on objects; these become truly meaningful,
however, if information can also be collated on the context in which they were discovered. Shells found in the
heart of the mountains prove that the lands in which they were deposited were once covered by the ocean. By
making it possible to reconstitute events which took place long before the existence of Man, these shells have
become tools for knowledge.

frafafaa meiw &1 ufeu ok Uy & IR ST |

JUA- YT GUGTd 2 3dbT DI T T QAT b 2 A YT MU 2 QRGN U IT b dH
TINRTeT 2 STg % J1 Foitd WToi 2 TeTdRdl d1 {43 1 2 A4 A1 Uphid 2 a&dd: 3 FHi =l 71 "TRgei"
GRT -3dl H R Bl §iidl § SR SR Rl §.... 310 SRS & Wiid § 8, RIS AriefHd & 3313k
AR & g, YA fafdudr F Had g Ub GH0T TR H |

b icie 3idgd Uebfd 1 fadRu U $Rdl § | U8 TUg i<, =1 Y&l dUR $dl g AR YSiiadl Bl
TR DHRAT | 3 GUSTA BT AHUYRYT & (TR SidD 1y, YIS 3R 3fciid aul aaq= 9
TgiaR Uity fafderdr & AT 3R SR &9 & YIS 8q YHE U8 R $Rdl § | 3 HUg 39! 319
Sftorfad wefid ®d ¢ | udd afd dUgul. AHHR0l SR Filru yundidg siHiid Usid o1 992 gd
Jeera-g (Y 9 ARG 81 ¢ 1 3D Ie=d B Yid gl gidl ¢ | THIY el JugTead | Yoilid b
Wﬂ?ﬂgﬁ:ﬁgﬂmﬁ%ﬁ?mﬂamﬁﬁaﬁwﬁéﬂﬁmwﬁaiwu 39d HId GHTS &1 b araf
&I FHIET PRI E |

Sifared & Yl 1 eldiied gidi & | Wibfde faxi |, avdal ur I 1 a1 Sird1 8, 3 arda # wiede
BId ©. Tt Yo 1 gRda 39 UgH H faar S gavdl forgd 3@ @is &1 113 2t | uddl & &g § U
17 a8 145 ®Rd ¢ 1o 157 ol # 51 [hu 1Y 3, 98 Bl HeNFR 9 3fr=oiiad AT | 3 ge-rsil, Sl 7
3{f%icd ¥ 9gd Ugd "fed g3 &l 3! U: iord - I A 1Y JH & [t SUHR0 S U |

The term 'measuring and apprehending' in the passage refers to:

. estimating the history and understanding the natural, geological and biodiversity of the universe
. measurement of specimens’ size

. apprehensions about climate change.

. measurement of carbondioxide and consequent temperature rize.

ko =

S Y




(1) 1
(2) 2
(3) 3
(4) 4

Tl B GU 714 Xee A0 SR STl Haiid ©-

1. SRIETH BT S SR UIplie, Y-d711e 3R seis $1 oid fafdeya o1 ay
2. THAT 3HR &1 AT
3. SAar] Ukad & aR J SHSRI
4. BIE- SI3 TS S 3R §H& YNRUMH WY a9qE J gis &1 A
1
) 2
3) 3
(4) 4

1[Option ID=7369]
2[Option ID=7370]
3[Option ID=7371]
4[Option ID=7372]

Sl. No.94
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Garden or museum ? Place of leisure or research centre ? Open or secretive ? Antique collections or cutting-edge
technology ? Inert objects or living beings ?Nostalgia or science fiction ? Man or Nature ? In fact it is all these
things - just replace the "ors" by "buts" and keep going... You are in the Jardin des Plants, the heart of the
Museum national d'historie naturelle. an institution dedicated to furthering knowledge of planetary diversity.

Natural history describes nature. It forms inventories, names and classifies species. The pivotal mission ascribed
to the Museum is to undertake this major inventory for the purposes of measuring and apprehending biological,
geological and ecological diversity from the past and present. The collections represent its concrete
manifestation. But collecting, naming and classifying serve no purpose unless they are motivated by an
underlying determination to understand the mechanisms governing nature. This is why researchers at the
Museum recreate the genealogy of species and examine the interactions of living beings with their environment
and that of human societies with nature.

What lies behind a fossil ? In the natural sciences, knowledge is built on objects; these become truly meaningtul,
however, if information can also be collated on the context in which they were discovered. Shells found in the
heart of the mountains prove that the lands in which they were deposited were once covered by the ocean. By
making it possible to reconstitute events which took place long before the existence of Man, these shells have
become tools for knowledge.

frgfafaa meiw &1 ufeu ok Uy & IR ST |

JUGT AT GBI 2 DR BT R T MY g 2 Had 3dl MY 2 GRIGRAY FUG T HYhdH
WRT! 2 55 d¥q a1 oitd WToft 2 TRl A1 {43 &1 2 HIFd a1 Udpid 2 a¥d: 3 qHI <ol 71 "IRgei"
GRI <37ar § R Bl Sl 8 3R oIkl §cll 8. 31U 9IRS ¢ Wid § g, RIorH ARSI g 313
AR & g, YA fafaudr JH HadH g Ub GHftd TR H |

Ui Sidee Uhid Bl fdarul e HRdl ¢ | T8 TUE i, T4 Y=t dUR Hdl ¢ 3R Yoiliadl &1
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giaRuiiy fafderdr @ A9 3R LRI &9 & YIS 8d YT G498 dR $dl & | 3 H9UE 39D! 319
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Wﬂﬁﬁ:ﬁgﬂmﬁ%ﬁmmaﬁmamwﬁﬁwu 3 HI-d GHTS B! Sffebaraii
DI GHIET PG |

SiaTRH & Yles 1 Sldi-ied gidl ¢ | Widbide fasi H, aedsil IR ;i A a1 Sirdn 8, 2 arda # wide
BId g, iy G 1 URGe 39 e # a1 S Jebdl foRy 31 @lol &1 715 21 | gddi & g | I
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The author mentions about recovery of shells from :

1. Rivers

2. Mountains
3. Oceans

4. Lakes
(1)1

(2) 2

3) 3

(4) 4

g Bl ¥ U dIYi & IR I B g o

1[Option ID=7373]
2[Option ID=7374]
3[Option ID=7375]
4[Option ID=7376]
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Garden or museum ? Place of leisure or research centre ? Open or secretive ? Antique collections or cutting-edge
technology ? Inert objects or living beings ?Nostalgia or science fiction ? Man or Nature ? In fact it is all these
things - just replace the "ors" by "buts" and keep going... You are in the Jardin des Plants, the heart of the
Museum national d'historie naturelle, an institution dedicated to furthering knowledge of planetary diversity.

Natural history describes nature. It forms inventories, names and classifies species. The pivotal mission ascribed
to the Museum is to undertake this major inventory for the purposes of measuring and apprehending biological,
geological and ecological diversity from the past and present. The collections represent its concrete
manifestation. But collecting, naming and classifying serve no purpose unless they are motivated by an
underlying determination to understand the mechanisms governing nature. This is why researchers at the
Museum recreate the genealogy of species and examine the interactions of living beings with their environment
and that of human societies with nature.

What lies behind a fossil ? In the natural sciences. knowledge is built on objects; these become truly meaningful,
however, if information can also be collated on the context in which they were discovered. Shells found in the
heart of the mountains prove that the lands in which they were deposited were once covered by the ocean. By
making it possible to reconstitute events which took place long before the existence of Man, these shells have
become tools for knowledge.

fafafaa e &1 ufeu ok Uy & I ST |

JUA- YT HUGTd 2 AT DI T T QMY b 2 Al 31dT MU 2 QRGN U IT b dH
IS 2 S a¥d a1 Weild Wil 2 TgTdedl A1 fai= 21 2 |44 A1 Uebid 2 a¥dd: 3 g+t il A6 "aigehi”
GRT <3ar T RYFIART B Si1dl § 3R 91 el §... 319 9IRe & Wid § €, Wforas Frfief[1d & Sl
AR & g, YA fafaudr J Hae g b GHdT TR H |

AT e STTET U Il T faaRo1 Ve Sl & | I% S Y, A1 Jel TR SRl & 3R Foilfaat &1
FffHRUI DHRAT | 3 GUSTA B ATYRYA d&d (=) Sifdaia, ﬂﬁaﬁaﬁsﬁwﬁﬂﬁaanaﬁnm@r
ER Ui [Afdedr & A SR dIeRR &4 & ST &9 HHE T dUR Al § | U UG D! 319
Sff¥orfad ueRid ®d § | udd afe dUgul, AHHR0M SR Filru yundidg siHiid Usid &1 9qeH g
S 4y 9 HfHuRd 181 ¢ Al 38 Ied &1 yfd 181 gidl ¢ | ST Wyl Jugrag | eiiid o
Wﬂﬁgﬁ:ﬁgﬂmﬁ%ﬁmﬂﬁmﬁﬁaﬁmﬁwwﬁﬁwuwm A4 GHTS DI 3fcharsi
D gHlET PRI T |

SilaTed & Yl 1 eldiigd gidi & | Wiblde faxi |, avdal ur I (A fobar Siid1 8, 4 arkdd # wiede
Bid ©. T Y1 1 gRdad 39 UgH H faar S gabdl forgd 39! @ist &1 113 1 | uddl & dg H U
Y19 g5 ¥ & g [ (o Y[l 8 51 {hT U 3, 9 Sl AerR 9 srsriad A1 | 34 gedrsil, S #Fa
3{f%id ¥ 9gd Ugd "fed g3 &l 3! U: iord - I A 1Y JH & it SUHR0 S U g |

The word "Tools' used by the author refers to:

1. Means of understanding natural history
2. Equipments used in archaeological exploration
3. Machines used in conservation of specimens
4. Means of understanding French Linguistics.
(1) 1
(2) 2
(3) 3
(4) 4

D TR H SIS Weg & W frg e A fparg 2

1 HIPicIeh SIAET a1e & He
Qe § WRad SUHR0l
; W%mwﬁmwm
4. WG] HTST fa9T &1 gHSH & [ie
1) 1
(2) 2
() 3
(4) 4




1[Option ID=7377]
2[Option ID=7378]
3[Option ID=7379]
4[Option ID=7380]

Sl. No.96
QBID:166096




Read the following passage and answer question.

Freezing is often used in disaster recovery, when large amounts of material have been water damaged. Left
untreated, water damaged material can go mouldly within about 48 hours. Freezing this material essentially
"buys time", and allows you to defrost and dry collection material in smaller, more manageable amounts.

Freezing may be essential during a large disaster and the only way in which to prevent the loss of large portions
of the collection. Freeze items when :

- There is insufficient space or time to air-dry them immediately.
- The items are mouldy and cannot be dealt with immediately.

- There are too few workers to handle all wet material.

- They are to be freeze-dried later.

Often, packed items can be loaded directly onto a freezer-truck and taken to a cold storage facility. Cold stores
maintain a temperature of below - 18°C, which is suitable for long-term storage. Cool stores at about 4°C are
also available, but these will not necessarily prevent mould growth. Costs are generally calculated on the
volume of materials to be stored, the duration of storage, the type of freezing, and your security requirements
during storage.

Cold storage companies generally cater to the food processing industry and this has implications for the type of
packaging permitted. Some items might need to be sealed in plastic. Other stores have limits on the size of
items or groups of items. As part of the planning process to commit items to frozen storage, contact the
company to discuss any special requirements you or they may have.

A few other notes about freezing collection material :
- Documentation of items in frozen storage is crucial for efficient tracking and retrieval.
- Freezing should proceed rapidly to reduce ice crystal size blast freezing is the best option, if available.

- Frozen items are heavier than normal. There may be some associated hazards with lifting heavy boxes.




frofafad i @1 gfeu Sik vy & S difv |

feriiexo (u=fider) &1 91 S9a 3 9av § 76 Ugad [hal oTdl &, 9id oidl 3 A &1 g9t A &ifauwd gidl § | afg 39
AT BTST AU o ot U affcrd It § @ 48 62 8 Bhg o Iadl ¢ | 59 9Ell & Biiexu § sawms 0 9
T AT § SR U] HHAR Ud Sl yaerg gE1si § 9t e aul 56 SUs0 9l U &R &dl § | T a9t
9T & SR fRHORU SHaRTD gl Ihdl & 3R T5 YUeU & g0 UF DI &fd DI JH- HT [HAHE didl § | e axqu
R

* 3% qOPTd 5d1 U §aM & AU oaie = a1 999 g |

« a3l T wipe ol 81 3R depTd HIe-HHTE 7 &1 o 9 |
* g Tiiell gl D1 faeq & U 95d ®F 48D g1 |

* 37! 91 § g8 9 g (freeze-dried) S § |

Udbeds awqal &1 Uil Wwior-gd I dal (601 o 9l ¢ 3R Yide &1 gider o o ol o 9adl § | =0id g 18 &3
TS I A AU ST 79d §, O AdDliad HSRU B 2P ¥ ST ¢ | @ 4 50 4SS ara ¥id e o Suas
2, Afee 3 3ifard ¥ 0 A wie 31 g &1 ST Aw urd | UsiRa T I areht Wl & aRam, HsRu @t safty,
P UPR R USRI B JRe Yaell Naasdhdis & SHUR R dNTd S 9E- R IR GRBH 601 95T g |

i 16 Hufgl IHrd: ATel TSR0 S9N B ARSI BT HeHT Rl & SR SUD SFAM-HIE YD & TR &
forg ffead § | o axgsi &1 wifes O did & @1 JaRgdd] 8l 9@l o | 31 1 B d¥gsil $ PR AR axd-995
et Himg § | =Ifad YR $ A e wihar & o S U 7 g ST fhl siaaddred! a1 $9% N S Ry
&, 9% aR ¥ 99 & o o 9§ 9ud I |

Tt Gugu 9l & 9R § o9 3= fewfoman:

* T SRU1 § axgsii &1 IoRa- PRI aeid I Il T SR qUici & e gew@yul § |
- 751 fhcd PR &1 doil ¥ ueH & o fediex f&ar o =gt — ‘sare wifsm 94y fawe &, afd g8 Suas g |
 Siidferd aRqU I 9 iU YR Bl § | 590 YRl 9199 ®1 SWR 36 I Yas @dX 6! 9ad ¢ |

According to the passage, which of the following problems is encountered by water damaged material if not
given any treatment,

1. Fungus will start growing on it.
2. Bacteria will start growing on it.
3. Paper will crumble
4, Paper will turn into pulp

1) 1

) 2

3) 3

4) 4

ST TR & SUR 510 9 i At &1 e 7 i ey o Hafated o 9 fow guw & e
P ISAR |

1. 39 R Bl Y9YAT YREY 1 SIQT |
2. 59 TR SHar] (SaEHRan) 9 9=1 TR™ &1 e |
3. BITH CPS-CPS Bl SIU |
4. AT ST H FidiRd 81 She |
(11
) 2
3) 3
(4) 4

1[Option ID=7381]
2[Option ID=7382]
3[Option ID=7383]
4[Option ID=7384]

Sl. No.97
QBID:166097




Read the following passage and answer question.

Freezing is often used in disaster recovery, when large amounts of material have been water damaged. Left
untreated, water damaged material can go mouldly within about 48 hours. Freezing this material essentially
"buys time", and allows you to defrost and dry collection material in smaller, more manageable amounts.

Freezing may be essential during a large disaster and the only way in which to prevent the loss of large portions
of the collection. Freeze items when :

- There is insufficient space or time to air-dry them immediately.
- The items are mouldy and cannot be dealt with immediately.

- There are too few workers to handle all wet material.

- They are to be freeze-dried later.

Often, packed items can be loaded directly onto a freezer-truck and taken to a cold storage facility. Cold stores
maintain a temperature of below - 18°C, which is suitable for long-term storage. Cool stores at about 4°C are
also available, but these will not necessarily prevent mould growth. Costs are generally calculated on the
volume of materials to be stored, the duration of storage, the type of freezing, and your security requirements
during storage.

Cold storage companies generally cater to the food processing industry and this has implications for the type of
packaging permitted. Some items might need to be sealed in plastic. Other stores have limits on the size of
items or groups of items. As part of the planning process to commit items to frozen storage, contact the
company to discuss any special requirements you or they may have.

A few other notes about freezing collection material :
- Documentation of items in frozen storage is crucial for efficient tracking and retrieval.
- Freezing should proceed rapidly to reduce ice crystal size blast freezing is the best option, if available.

- Frozen items are heavier than normal. There may be some associated hazards with lifting heavy boxes.




frofafad i @1 gfeu Sik vy & S difv |

feriiexo (u=fider) &1 91 S9a 3 9av § 76 Ugad [hal oTdl &, 9id oidl 3 A &1 g9t A &ifauwd gidl § | afg 39
AT BTST AU o ot U affcrd It § @ 48 62 8 Bhg o Iadl ¢ | 59 9Ell & Biiexu § sawms 0 9
T AT § SR U] HHAR Ud Sl yaerg gE1si § 9t e aul 56 SUs0 9l U &R &dl § | T a9t
9T & SR fRHORU SHaRTD gl Ihdl & 3R T5 YUeU & g0 UF DI &fd DI JH- HT [HAHE didl § | e axqu
R

* 3% qOPTd 5d1 U §aM & AU oaie = a1 999 g |

« a3l T wipe ol 81 3R depTd HIe-HHTE 7 &1 o 9 |
* g Tiiell gl D1 faeq & U 95d ®F 48D g1 |

* 37! 91 § g8 9 g (freeze-dried) S § |

Udbeds awqal &1 Uil Wwior-gd I dal (601 o 9l ¢ 3R Yide &1 gider o o ol o 9adl § | =0id g 18 &3
TS I A AU ST 79d §, O AdDliad HSRU B 2P ¥ ST ¢ | @ 4 50 4SS ara ¥id e o Suas
2, Afee 3 3ifard ¥ 0 A wie 31 g &1 ST Aw urd | UsiRa T I areht Wl & aRam, HsRu @t safty,
P UPR R USRI B JRe Yaell Naasdhdis & SHUR R dNTd S 9E- R IR GRBH 601 95T g |

i 16 Hufgl IHrd: ATel TSR0 S9N B ARSI BT HeHT Rl & SR SUD SFAM-HIE YD & TR &
forg ffead § | o axgsi &1 wifes O did & @1 JaRgdd] 8l 9@l o | 31 1 B d¥gsil $ PR AR axd-995
et Himg § | =Ifad YR $ A e wihar & o S U 7 g ST fhl siaaddred! a1 $9% N S Ry
&, 9% aR ¥ 99 & o o 9§ 9ud I |

Tt Gugu 9l & 9R § o9 3= fewfoman:

* T SRU1 § axgsii &1 IoRa- PRI aeid I Il T SR qUici & e gew@yul § |
- 751 fhcd PR &1 doil ¥ ueH & o fediex f&ar o =gt — ‘sare wifsm 94y fawe &, afd g8 Suas g |
 Siidferd aRqU I 9 iU YR Bl § | 590 YRl 9199 ®1 SWR 36 I Yas @dX 6! 9ad ¢ |

The passage 1s mainly about treating objects damaged due to :

1. Water Disaster
2. Earthquake
3. Fire Disaster
4. Extreme heat
(1)1
) 2
(3) 3
(4) 4

Sugad TR HaRfaRad § ¥ 6g SR gaa: affiu axgsll S e S arR g 2

1. STd JHTOEl
2. Yoy
3. 39 3maar
4. 3{fd IWrEr
(11
(2) 2
(3) 3
(4) 4
1[Option ID=7385]
2[Option ID=7386]

3[Option ID=7387]
4[Option ID=7388]

Sl. No.98
QBID:166098




Read the following passage and answer question.

Freezing is often used in disaster recovery, when large amounts of material have been water damaged. Left
untreated, water damaged material can go mouldly within about 48 hours. Freezing this material essentially
"buys time", and allows you to defrost and dry collection material in smaller, more manageable amounts.

Freezing may be essential during a large disaster and the only way in which to prevent the loss of large portions
of the collection. Freeze items when :

- There is insufficient space or time to air-dry them immediately.
- The items are mouldy and cannot be dealt with immediately.

- There are too few workers to handle all wet material.

- They are to be freeze-dried later.

Often, packed items can be loaded directly onto a freezer-truck and taken to a cold storage facility. Cold stores
maintain a temperature of below - 18°C, which is suitable for long-term storage. Cool stores at about 4°C are
also available, but these will not necessarily prevent mould growth. Costs are generally calculated on the
volume of materials to be stored, the duration of storage, the type of freezing, and your security requirements
during storage.

Cold storage companies generally cater to the food processing industry and this has implications for the type of
packaging permitted. Some items might need to be sealed in plastic. Other stores have limits on the size of
items or groups of items. As part of the planning process to commit items to frozen storage, contact the
company to discuss any special requirements you or they may have.

A few other notes about freezing collection material :
- Documentation of items in frozen storage is crucial for efficient tracking and retrieval.
- Freezing should proceed rapidly to reduce ice crystal size blast freezing is the best option, if available.

- Frozen items are heavier than normal. There may be some associated hazards with lifting heavy boxes.




frofafad i @1 gfeu Sik vy & S difv |

feriiexo (u=fider) &1 91 S9a 3 9av § 76 Ugad [hal oTdl &, 9id oidl 3 A &1 g9t A &ifauwd gidl § | afg 39
AT BTST AU o ot U affcrd It § @ 48 62 8 Bhg o Iadl ¢ | 59 9Ell & Biiexu § sawms 0 9
T AT § SR U] HHAR Ud Sl yaerg gE1si § 9t e aul 56 SUs0 9l U &R &dl § | T a9t
9T & SR fRHORU SHaRTD gl Ihdl & 3R T5 YUeU & g0 UF DI &fd DI JH- HT [HAHE didl § | e axqu
R

* 3% qOPTd 5d1 U §aM & AU oaie = a1 999 g |

« a3l T wipe ol 81 3R depTd HIe-HHTE 7 &1 o 9 |
* g Tiiell gl D1 faeq & U 95d ®F 48D g1 |

* 37! 91 § g8 9 g (freeze-dried) S § |

Udbeds awqal &1 Uil Wwior-gd I dal (601 o 9l ¢ 3R Yide &1 gider o o ol o 9adl § | =0id g 18 &3
TS I A AU ST 79d §, O AdDliad HSRU B 2P ¥ ST ¢ | @ 4 50 4SS ara ¥id e o Suas
2, Afee 3 3ifard ¥ 0 A wie 31 g &1 ST Aw urd | UsiRa T I areht Wl & aRam, HsRu @t safty,
P UPR R USRI B JRe Yaell Naasdhdis & SHUR R dNTd S 9E- R IR GRBH 601 95T g |

i 16 Hufgl IHrd: ATel TSR0 S9N B ARSI BT HeHT Rl & SR SUD SFAM-HIE YD & TR &
forg ffead § | o axgsi &1 wifes O did & @1 JaRgdd] 8l 9@l o | 31 1 B d¥gsil $ PR AR axd-995
et Himg § | =Ifad YR $ A e wihar & o S U 7 g ST fhl siaaddred! a1 $9% N S Ry
&, 9% aR ¥ 99 & o o 9§ 9ud I |

Tt Gugu 9l & 9R § o9 3= fewfoman:

* T SRU1 § axgsii &1 IoRa- PRI aeid I Il T SR qUici & e gew@yul § |
- 751 fhcd PR &1 doil ¥ ueH & o fediex f&ar o =gt — ‘sare wifsm 94y fawe &, afd g8 Suas g |
 Siidferd aRqU I 9 iU YR Bl § | 590 YRl 9199 ®1 SWR 36 I Yas @dX 6! 9ad ¢ |

According to the passage cool stores are able to maintain temperature upto:

1.-19%
2.0%
3.-4%
4.4%

1 1

(2) 2

(3) 3

4) 4

SUgad TN & SER Xid 78 dTUEH & fhd- do a9 3E- § 9&H § 2

1.-19%
2.0%
3.-4%
4.4%

1) 1

(2) 2

(3) 3

(4) 4

1[Option ID=7389]

2[Option ID=7390]

3[Option ID=7391]
4[Option ID=7392]

Sl. No.99
QBID:166099




Read the following passage and answer question.

Freezing is often used in disaster recovery, when large amounts of material have been water damaged. Left
untreated, water damaged material can go mouldly within about 48 hours. Freezing this material essentially
"buys time", and allows you to defrost and dry collection material in smaller, more manageable amounts.

Freezing may be essential during a large disaster and the only way in which to prevent the loss of large portions
of the collection. Freeze items when :

- There is insufficient space or time to air-dry them immediately.
- The items are mouldy and cannot be dealt with immediately.

- There are too few workers to handle all wet material.

- They are to be freeze-dried later.

Often, packed items can be loaded directly onto a freezer-truck and taken to a cold storage facility. Cold stores
maintain a temperature of below - 18°C, which is suitable for long-term storage. Cool stores at about 4°C are
also available, but these will not necessarily prevent mould growth. Costs are generally calculated on the
volume of materials to be stored, the duration of storage, the type of freezing, and your security requirements
during storage.

Cold storage companies generally cater to the food processing industry and this has implications for the type of
packaging permitted. Some items might need to be sealed in plastic. Other stores have limits on the size of
items or groups of items. As part of the planning process to commit items to frozen storage, contact the
company to discuss any special requirements you or they may have.

A few other notes about freezing collection material :
- Documentation of items in frozen storage is crucial for efficient tracking and retrieval.
- Freezing should proceed rapidly to reduce ice crystal size blast freezing is the best option, if available.

- Frozen items are heavier than normal. There may be some associated hazards with lifting heavy boxes.




frofafad i @1 gfeu Sik vy & S difv |

feriiexo (u=fider) &1 91 S9a 3 9av § 76 Ugad [hal oTdl &, 9id oidl 3 A &1 g9t A &ifauwd gidl § | afg 39
AT BTST AU o ot U affcrd It § @ 48 62 8 Bhg o Iadl ¢ | 59 9Ell & Biiexu § sawms 0 9
T AT § SR U] HHAR Ud Sl yaerg gE1si § 9t e aul 56 SUs0 9l U &R &dl § | T a9t
9T & SR fRHORU SHaRTD gl Ihdl & 3R T5 YUeU & g0 UF DI &fd DI JH- HT [HAHE didl § | e axqu
R

* 3% qOPTd 5d1 U §aM & AU oaie = a1 999 g |

« a3l T wipe ol 81 3R depTd HIe-HHTE 7 &1 o 9 |
* g Tiiell gl D1 faeq & U 95d ®F 48D g1 |

* 37! 91 § g8 9 g (freeze-dried) S § |

Udbeds awqal &1 Uil Wwior-gd I dal (601 o 9l ¢ 3R Yide &1 gider o o ol o 9adl § | =0id g 18 &3
TS I A AU ST 79d §, O AdDliad HSRU B 2P ¥ ST ¢ | @ 4 50 4SS ara ¥id e o Suas
2, Afee 3 3ifard ¥ 0 A wie 31 g &1 ST Aw urd | UsiRa T I areht Wl & aRam, HsRu @t safty,
P UPR R USRI B JRe Yaell Naasdhdis & SHUR R dNTd S 9E- R IR GRBH 601 95T g |

i 16 Hufgl IHrd: ATel TSR0 S9N B ARSI BT HeHT Rl & SR SUD SFAM-HIE YD & TR &
forg ffead § | o axgsi &1 wifes O did & @1 JaRgdd] 8l 9@l o | 31 1 B d¥gsil $ PR AR axd-995
et Himg § | =Ifad YR $ A e wihar & o S U 7 g ST fhl siaaddred! a1 $9% N S Ry
&, 9% aR ¥ 99 & o o 9§ 9ud I |

Tt Gugu 9l & 9R § o9 3= fewfoman:

* T SRU1 § axgsii &1 IoRa- PRI aeid I Il T SR qUici & e gew@yul § |
- 751 fhcd PR &1 doil ¥ ueH & o fediex f&ar o =gt — ‘sare wifsm 94y fawe &, afd g8 Suas g |
 Siidferd aRqU I 9 iU YR Bl § | 590 YRl 9199 ®1 SWR 36 I Yas @dX 6! 9ad ¢ |

According to the passage, objects tend to change after freezing by becoming:

1. light
2. bright
3. heavy
4. dull

1)1

2) 2

(3) 3

(4) 4

SUY e TR 9 SHTHR aaqU [GHieRUI & 918 &1 §-1ahR URGdH &1 3R Uged gid 6 2

1. Gwhl
2. gH@El
3. HIN
4. 12 (39)
1) 1
(2) 2
3) 3
(4) 4
1[Option ID=7393]
2[Option ID=7394]

3[Option ID=7395]
4[Option ID=7396]

Sl. No.100
QBID:166100




Read the following passage and answer question.

Freezing is often used in disaster recovery, when large amounts of material have been water damaged. Left
untreated, water damaged material can go mouldly within about 48 hours. Freezing this material essentially
"buys time", and allows you to defrost and dry collection material in smaller, more manageable amounts.

Freezing may be essential during a large disaster and the only way in which to prevent the loss of large portions
of the collection. Freeze items when :

- There is insufficient space or time to air-dry them immediately.
- The items are mouldy and cannot be dealt with immediately.

- There are too few workers to handle all wet material.

- They are to be freeze-dried later.

Often, packed items can be loaded directly onto a freezer-truck and taken to a cold storage facility. Cold stores
maintain a temperature of below - 18°C, which is suitable for long-term storage. Cool stores at about 4°C are
also available, but these will not necessarily prevent mould growth. Costs are generally calculated on the
volume of materials to be stored, the duration of storage, the type of freezing, and your security requirements
during storage.

Cold storage companies generally cater to the food processing industry and this has implications for the type of
packaging permitted. Some items might need to be sealed in plastic. Other stores have limits on the size of
items or groups of items. As part of the planning process to commit items to frozen storage, contact the
company to discuss any special requirements you or they may have.

A few other notes about freezing collection material :
- Documentation of items in frozen storage is crucial for efficient tracking and retrieval.
- Freezing should proceed rapidly to reduce ice crystal size blast freezing is the best option, if available.

- Frozen items are heavier than normal. There may be some associated hazards with lifting heavy boxes.




frofafad i @1 gfeu Sik vy & S difv |

feriiexo (u=fider) &1 91 S9a 3 9av § 76 Ugad [hal oTdl &, 9id oidl 3 A &1 g9t A &ifauwd gidl § | afg 39
AT BTST AU o ot U affcrd It § @ 48 62 8 Bhg o Iadl ¢ | 59 9Ell & Biiexu § sawms 0 9
T AT § SR U] HHAR Ud Sl yaerg gE1si § 9t e aul 56 SUs0 9l U &R &dl § | T a9t
9T & SR fRHORU SHaRTD gl Ihdl & 3R T5 YUeU & g0 UF DI &fd DI JH- HT [HAHE didl § | e axqu
R

* 3% qOPTd 5d1 U §aM & AU oaie = a1 999 g |

« a3l T wipe ol 81 3R depTd HIe-HHTE 7 &1 o 9 |
* g Tiiell gl D1 faeq & U 95d ®F 48D g1 |

* 37! 91 § g8 9 g (freeze-dried) S § |

Udbeds awqal &1 Uil Wwior-gd I dal (601 o 9l ¢ 3R Yide &1 gider o o ol o 9adl § | =0id g 18 &3
TS I A AU ST 79d §, O AdDliad HSRU B 2P ¥ ST ¢ | @ 4 50 4SS ara ¥id e o Suas
2, Afee 3 3ifard ¥ 0 A wie 31 g &1 ST Aw urd | UsiRa T I areht Wl & aRam, HsRu @t safty,
P UPR R USRI B JRe Yaell Naasdhdis & SHUR R dNTd S 9E- R IR GRBH 601 95T g |

i 16 Hufgl IHrd: ATel TSR0 S9N B ARSI BT HeHT Rl & SR SUD SFAM-HIE YD & TR &
forg ffead § | o axgsi &1 wifes O did & @1 JaRgdd] 8l 9@l o | 31 1 B d¥gsil $ PR AR axd-995
et Himg § | =Ifad YR $ A e wihar & o S U 7 g ST fhl siaaddred! a1 $9% N S Ry
&, 9% aR ¥ 99 & o o 9§ 9ud I |

Tt Gugu 9l & 9R § o9 3= fewfoman:

* T SRU1 § axgsii &1 IoRa- PRI aeid I Il T SR qUici & e gew@yul § |
- 751 fhcd PR &1 doil ¥ ueH & o fediex f&ar o =gt — ‘sare wifsm 94y fawe &, afd g8 Suas g |
 Siidferd aRqU I 9 iU YR Bl § | 590 YRl 9199 ®1 SWR 36 I Yas @dX 6! 9ad ¢ |

According to the passage the cost is calculated on the parameters:

1. Volume of material and duration of the storage
2. Volume of material and type of freezing
3. Security Requirement
4. Volume of material, duration of storage, type of freezing and security requirement.
1 1
(2) 2
(3) 3
(4) 4

SUYEd TN & HTHR AR &1 69 TGS & YR TR YRba- (501 STl 6 2

1. gt &1 ufemEm 3iR SieR @ arafd
2. AT T YRE 3R feHia=u &1 R
3. GRef1 Il rawaddn
4. AT &1 URE, USRI & Safy, i &1 yeR 3R e Gl smavgaal
1) 1
(2) 2
3) 3
(4) 4

1[Option ID=7397]
2[Option ID=7398]
3[Option ID=7399]
4[Option ID=7400]

Sl. No.101
QBID:3201001




The table below shows the number of males (M) and Females (F) working in six Nationalized Banks in India,
namely SBI, PNB, UCO, BOB, IOB and UBI located across six cities A-F. Based on the data in the table, answer
the question :

City-wise Distribution of Employees in Banks

Bank SBI PNB UCco BOB 10B UBI

le M|FIM|FIM|F|M|FIM|F|M| F
A | 553 |224|673] 116|443 | 500 | 534 | 454|256 | 235 | 556 | 357
B | 254 [456|346]|256] 366 (345|478 |285] 256 [ 166 346 | 287
C | 457|388 346|456 124 [456| 235235574 [ 599 | 589 | 190
D 114 |378(124)235] 235 | 388 | 255175324 | 198 ] 189 | 256
E | 234 [120]241 156|350 [ 234|124 |165] 124 [ 334 155 | 181
F 353 |325|348]174| 399 | 439|358 234125 ]|235] 278 | 192

=1 €1 TS ATferl H WRA & B8 el A-F 1 Ud © USadd dabi, Tueles, Uiedel, I, Siafd,
TS ATEl 3R Fallang H BT Yoyl (M) 3R HigaTsil (F)d! A1 UG IRId &1 175 ¢ | dIlde & sfidsi &
TR TR U DI IR ST -

db1 H HHATNYT BT Ag-adR fado

iF Taaters | dioadt go! ot | omgeidt | e
ml M |F M [F M [F M [F M [F M |F
A 553|224 673 116 |443 |500 |534 [454 [256 [235 |536 |357
B 254|456 346 |256 |366 |345 |78 [285 [256 |166 |346 |287
C 457 [388 346 [456 |124 [436 |235 |235 |54 [599 589 |190
D 114 378|124 [235 [235 388 255 [175 |324 198 189 [236
E 234|120 241 [156 |350 |234 |124 [165 [124 [334 [155 181
F 353|325 [348 |174 |399 [439 358 [234 [125 [235 [278 |192

The ratio of the number of females to the number of males in City-E working in SBI, UCO and IOB together is :

1173 ;173
2.173 =177
% A725077
4.172 1175

(1) 1
) 2
(3) 3
(4) 4

QIEY E H U133, bl SR TS 3Mldl H FHY R Algclsfl B W1 iR Jou] o] W1 1 SUId 1 g 2

1.:173 5175
LI 7 . S T
3. 1725 17%
41722175

(1)1

() 2

3) 3

(4) 4

1[Option ID=8601]
2[Option ID=8602]
3[Option ID=8603]
4[Option ID=8604]

Sl. No.102
QBID:3201002




The table below shows the number of males (M) and Females (F) working in six Nationalized Banks in India,
namely SBI, PNB, UCO, BOB, IOB and UBI located across six cities A-F. Based on the data in the table, answer
the question :

City-wise Distribution of Employees in Banks

Bank SBI PNB UCco BOB 10B UBI

Cit_vl M|FIM|FIM|F|M|FIM|F|M| F
A | 553 |224|673] 116|443 | 500 | 534 | 454|256 | 235 | 556 | 357
B | 254 [456|346]|256] 366 (345|478 |285] 256 [ 166 346 | 287
C | 457|388 346|456 124 [456| 235235574 [ 599 | 589 | 190
D 114 |378(124)235] 235 | 388 | 255175324 | 198 ] 189 | 256
E | 234 [120]241 156|350 [ 234|124 |165] 124 [ 334 155 | 181
F 353 |325|348]174| 399 | 439|358 234125 ]|235] 278 | 192

=1 €1 TS ATferl H WRA & B8 el A-F 1 Ud © USadd dabi, Tueles, Uiedel, I, Siafd,
TS ATEl 3R Fallang H BT Yoyl (M) 3R HigaTsil (F)d! A1 UG IRId &1 175 ¢ | dIlde & sfidsi &
SR IR U & IR alfolg ;

db1 H HHATNYT BT Ag-adR fado

iF Taaters | dioadt go! ot | omgeidt | e
ml M |F M [F M [F M [F M [F M |F
A 553|224 673 116 |443 |500 |534 [454 [256 [235 |536 |357
B 254|456 346 |256 |366 |345 |78 [285 [256 |166 |346 |287
C 457 [388 346 [456 |124 [436 |235 |235 |54 [599 589 |190
D 114 378|124 [235 [235 388 255 [175 |324 198 189 [236
E 234|120 241 [156 |350 |234 |124 [165 [124 [334 [155 181
F 353|325 [348 |174 |399 [439 358 [234 [125 [235 [278 |192

The approximate percentage of the number of females with respect to the number of males across all the banks
together in City-B is:

1. 88%
2.98%
3.78%
4. 86%

1) 1

(2) 2

(3) 3

(4) 4

Qg B H Hdl dh1 H [AeTeh? B Aigarsil &1 Tegn Youi @1 YT o1 TRTHIT fdod=T Wia=Td ¢ 2

(1)1
(2) 2
(3) 3
(4) 4
1[Option ID=8605]
2[Option ID=8606]

3[Option ID=8607]
4[Option ID=8608]

Sl. No.103
QBID:3201003




The table below shows the number of males (M) and Females (F) working in six Nationalized Banks in India,
namely SBI, PNB, UCO, BOB, IOB and UBI located across six cities A-F. Based on the data in the table, answer
the question :

City-wise Distribution of Employees in Banks

Bank SBI PNB UCco BOB 10B UBI

Cit_vl M|FIM|FIM|F|M|FIM|F|M| F
A | 553 |224|673] 116|443 | 500 | 534 | 454|256 | 235 | 556 | 357
B | 254 [456|346]|256] 366 (345|478 |285] 256 [ 166 346 | 287
C | 457|388 346|456 124 [456| 235235574 [ 599 | 589 | 190
D 114 |378(124)235] 235 | 388 | 255175324 | 198 ] 189 | 256
E | 234 [120]241 156|350 [ 234|124 |165] 124 [ 334 155 | 181
F 353 |325|348]174| 399 | 439|358 234125 ]|235] 278 | 192

=1 €1 TS ATferl H WRA & B8 el A-F 1 Ud © USadd dabi, Tueles, Uiedel, I, Siafd,
TS ATEl 3R Fallang H BT Yoyl (M) 3R HigaTsil (F)d! A1 UG IRId &1 175 ¢ | dIlde & sfidsi &
SR IR U & IR alfolg ;

db1 H HHATNYT BT Ag-adR fado

iF Taaters | dioadt go! ot | omgeidt | e
ml M |F M [F M [F M [F M [F M |F
A 553|224 673 116 |443 |500 |534 [454 [256 [235 |536 |357
B 254|456 346 |256 |366 |345 |78 [285 [256 |166 |346 |287
C 457 [388 346 [456 |124 [436 |235 |235 |54 [599 589 |190
D 114 378|124 [235 [235 388 255 [175 |324 198 189 [236
E 234|120 241 [156 |350 |234 |124 [165 [124 [334 [155 181
F 353|325 [348 |174 |399 [439 358 [234 [125 [235 [278 |192

The number of females working in UCO from City-A is approximately % more than the number of
females working in PNB from the same city.

1) 1
(2) 2
(3) 3
(4) 4

ER A H T o H Hrid Afgarsil H1 weam 34l WeR # Ui« # H1ad Afgarsii B T d TTHTT
fara Ufc=Te 3ifee g 2

1.27
2.182%
3.18

.
T
tad
—
e
o~

1) 1
(2) 2
(3) 3
(4) 4
1[Option ID=8609]
2[Option ID=8610]

3[Option ID=8611]
4[Option ID=8612]

Sl. No.104
QBID:3201004




The table below shows the number of males (M) and Females (F) working in six Nationalized Banks in India,
namely SBI, PNB, UCO, BOB, IOB and UBI located across six cities A-F. Based on the data in the table, answer
the question :

City-wise Distribution of Employees in Banks

Bank SBI PNB UCco BOB 10B UBI

Cit_vl M|FIM|FIM|F|M|FIM|F|M| F
A | 553 |224|673] 116|443 | 500 | 534 | 454|256 | 235 | 556 | 357
B | 254 [456|346]|256] 366 (345|478 |285] 256 [ 166 346 | 287
C | 457|388 346|456 124 [456| 235235574 [ 599 | 589 | 190
D 114 |378(124)235] 235 | 388 | 255175324 | 198 ] 189 | 256
E | 234 [120]241 156|350 [ 234|124 |165] 124 [ 334 155 | 181
F 353 |325|348]174| 399 | 439|358 234125 ]|235] 278 | 192

=1 €1 TS ATferl H WRA & B8 el A-F 1 Ud © USadd dabi, Tueles, Uiedel, I, Siafd,
TS ATEl 3R Fallang H BT Yoyl (M) 3R HigaTsil (F)d! A1 UG IRId &1 175 ¢ | dIlde & sfidsi &
SR IR U & IR alfolg ;

db1 H HHATNYT BT Ag-adR fado

iF Taaters | dioadt go! ot | omgeidt | e
ml M |F M [F M [F M [F M [F M |F
A 553|224 673 116 |443 |500 |534 [454 [256 [235 |536 |357
B 254|456 346 |256 |366 |345 |78 [285 [256 |166 |346 |287
C 457 [388 346 [456 |124 [436 |235 |235 |54 [599 589 |190
D 114 378|124 [235 [235 388 255 [175 |324 198 189 [236
E 234|120 241 [156 |350 |234 |124 [165 [124 [334 [155 181
F 353|325 [348 |174 |399 [439 358 [234 [125 [235 [278 |192

The total number of females working across all the six cities together is more than 1700 in:

1. all the six banks
2. exactly three banks
3. exactly four banks
4. exactly two banks
1) 1
() 2
(3) 3
(4) 4

Tt 38 el & Sk Afgarel ot Te Fafatad 7 9 feae 1700 T 319w g 2

1. 94 o5 dbl H
2. Bid i sl |
3. 3@ IR dHi A
4. Bl al dbl H

1) 1

(2) 2

(3) 3

) a

1[Option ID=8613]

2[Option ID=8614]

3[Option ID=8615]
4[Option ID=8616]

Sl. No.105
QBID:3201005




The table below shows the number of males (M) and Females (F) working in six Nationalized Banks in India,
namely SBI, PNB, UCO, BOB, IOB and UBI located across six cities A-F. Based on the data in the table, answer
the question :

City-wise Distribution of Employees in Banks

Bank SBI PNB UCco BOB 10B UBI

Cit_vl M|FIM|FIM|F|M|FIM|F|M| F
A | 553 |224|673] 116|443 | 500 | 534 | 454|256 | 235 | 556 | 357
B | 254 [456|346]|256] 366 (345|478 |285] 256 [ 166 346 | 287
C | 457|388 346|456 124 [456| 235235574 [ 599 | 589 | 190
D 114 |378(124)235] 235 | 388 | 255175324 | 198 ] 189 | 256
E | 234 [120]241 156|350 [ 234|124 |165] 124 [ 334 155 | 181
F 353 |325|348]174| 399 | 439|358 234125 ]|235] 278 | 192

=1 €1 TS ATferl H WRA & B8 el A-F 1 Ud © USadd dabi, Tueles, Uiedel, I, Siafd,
TS ATEl 3R Fallang H BT Yoyl (M) 3R HigaTsil (F)d! A1 UG IRId &1 175 ¢ | dIlde & sfidsi &
SR IR U & IR alfolg ;

db1 H HHATNYT BT Ag-adR fado

iF Taaters | dioadt go! ot | omgeidt | e
ml M |F M [F M [F M [F M [F M |F
A 553|224 673 116 |443 |500 |534 [454 [256 [235 |536 |357
B 254|456 346 |256 |366 |345 |78 [285 [256 |166 |346 |287
C 457 [388 346 [456 |124 [436 |235 |235 |54 [599 589 |190
D 114 378|124 [235 [235 388 255 [175 |324 198 189 [236
E 234|120 241 [156 |350 |234 |124 [165 [124 [334 [155 181
F 353|325 [348 |174 |399 [439 358 [234 [125 [235 [278 |192

The difference between the number of males working across all the six banks together in City-C and the number
of males working across all the six banks together in City-D is:

1. 1022
2.1214
3. 1198
4. 1084

1) 1

(2) 2

(3) 3

(4) 4

ER C & Gl B¢ db] T SR JoN| &1 ST 3R e D & GHI §¢ dbl H SRR Joul &1 &1 & |9
DI AR fba1g 2

1. 1022
2.1214
3.1198
4,1084

1) 1

) 2

(3) 3

(4) 4

1[Option ID=8617]

2[Option ID=8618]

3[Option ID=8619]
4[Option ID=8620]

Sl. No.106
QBID:3201006




Both students and teachers work harder and persist longer when they have a high sense efficacy. Which of the
following does not enhance self-efficacy in both students and teachers?

1. Day to day success in achieving tasks

2. Formal school relationships that focus solely on skills

3. Assistance from more knowledgeable partners

4. High expectations from those in the environment

1) 1

() 2

(3) 3

(4) 4

faemeif 2R fRrefep da 31 HAR IRYH B & 3R e I T S¢ 38d & o 36 UHIEIdIGHdl Bl I
qly gldl g | FafeiRad | 9 a1 faanfial oik Rige! <l § W-uHHidesdl H dfa 78l didi g ?

1. BEAYR G D | i goheid]
2. T DI TR bisd A= ey ddy
3. Sifey A W HIAT ¥ Weradl
4. GRAY H GO Y 3AlYD 3Uemy
1) 1
() 2
3) 3
) 4

1[Option ID=8621]
2[Option ID=8622]
3[Option ID=8623]
4[Option ID=8624]

Sl. No.107
QBID:3201007

Direct instruction is most suited when teachers:

1. teach basic skills
2. have their students explore pathways to solve a mathematics problems
3. encourage their students to refine their creativity in art
4. assign critical thinking exercises
1
(2 2
(3) 3
(4) 4

Y& 32 Ydiitieh Juger gidl ¢ e A& -

1. g oI T e ed g 1
2. 31g+ faenfial 9 nifordta Tt g9 ® & Il Bl AU HRAA G |
3. U+ faeniel &1 el H# IAD] FofidADdl & URDR & oy HieHIfgd HId & |
4. HiATTHS faaRur 29 9igd § |
@ 2
(3) 3
(4) 4

1[Option ID=8625]
2[Option ID=8626]
3[Option ID=8627]
4[Option ID=8628]

Sl. No.108
QBID:3201008




Match List I with List IT

LIST I (learning style) LIST II (Learning characteristics)

R — I Ccncr‘_ate. experience and reflective
observation

B [Biiremes n Concr_ete experience and active
expernimentation

& Wessaies . Abs‘frgcr conc eptualization and Active
experimentation

D. |k v |A bstract conceptualization and reflective)

observation

1. A-III, B-1V, C-11, D-1
2. A-IIL, B-1, C-1V, D-II
3. A-IV, B-1, C-11, D-IIT
4. A-1V, B-I. C-1IL, D-II

Choose the correct answer from the options given below:

1) 1

() 2

(3) 3

4) 4

Gl 11 g=l 1 9 fAar Sifse

1 1 (AT T T 11 (SATAATH SHTHwa)

. o %ﬂ%ﬁ?ﬁﬂ%
. |ER® I mﬁwﬁﬁwm
C  [EaS i, [T SremeiR
D [OHMEeS v, &mﬁﬁfsi;ﬁiwaiz SR

fofeiRad Aol & 9 Iel 3R &7 994 BIoY ;

.A-IL B-1IV, C-11, D-1
CA-IITL B-1L C-IV, D-I1
.A-IV. B-1, C-II. D-1II
4. A-IV, B-1, C-III, D-III
(1)1
(2) 2
3) 3
(4) 4

|
2
3

1[Option ID=8629]
2[Option ID=8630]
3[Option ID=8631]
4[Option ID=8632]

Sl. No.109
QBID:3201009




Match List I with List IT

LIST I (Type of memory) LIST II (Meaning)
: Memory of remembering the route to
A, |Semantic L At i =
drive home
Memory that contributes to vour
B. [Episodic II. |sense of self. vour own history or
identity
C. JAutobiographical III. [Memory of General knowledge
Sl v Memory of life e\'_enrs that happened
to vou or around vou

Choose the correct answer from the options given below:

1. A-III, B-1V, C-11, D-1
2. A-I1, B-1V, C-111, D-1
3. A-III, B-1I, C-1IV, D-1
4. A-1I1. B-1, C-II, D-IV

1) 1
2) 2
3) 3
(4) 4
Gl 11 g=l 1 9 fAar Sifse
e 1 (Fid T TPR) T 11 (3%
A ki ¢ gmﬁcqfﬁmnﬁwaﬂﬁaﬁ
g Ffd =1 AT Shd @, AHTd
B. [SUBIHES I |HUH (e 3udl UgaH & a1y |
TrTe Bl &
C. [srEmuE® Il [ 9E &1 S
. |S1TOts Ty 31YET HTUd HEUH
D. [ . - geAr & |

frofafad fasedl & 9 98l SR &1 994 Sifu -

1. A-IIT, B-1V, C-I1, D-I
2. A-TI, B-IV, C-1II, D-1
3. A-IIT, B-II, C-IV, D-I
4. A-II1, B-1, C-II. D-IV

(1) 1

(2) 2

3) 3

(4) 4

1[Option ID=8633]

2[Option ID=8634]

3[Option ID=8635]
4[Option ID=8636]

Sl. No.110
QBID:3201010

If you want to assess the students performance and want to give them immediate feedback, which software will
you select?

1. Kahoot
2. Animaker
3. Plotagon
4. Powtoon

11

(2) 2

(3) 3

4) 4




gfe 31 faefal & S Y= &1 Jedih 1 dlgd & 3R 3= dabld Uiy ¢A1died 8. of o g o
3 frg Qi dmR &1 g1 2

1) 1
(2) 2
(3) 3
(4) 4
1[Option ID=8637]
2[Option ID=8638]

3[Option ID=8639]
4[Option ID=8640]

Sl. No.111
QBID:3201011

Arrange the following research components in correct sequence:

A. Preparing a research plan

B. Collecting Data

C. Drawing conclusion

D. Formulating a research question/objectives
E. Analyzing data

Choose the correct answer from the options given below:

1.AD.B.E.C
2.D,A.B.E,C
3.B,D,A,C,E
4, A,B,D,C.E
(1) 1
(2) 2
3) 3
(4) 4

FafcRad ey Haeed] &l gl 3hH H SaRUd HIT;
A. QY TISHET TR BT

B. s Uhd HIl

c. frd Asmra

D. Y UH/35 24l BT (=Y

E. 3ib sl Pl [d2dyur

1< fau Y fa el H ¥ T8 Iugdd IR b1 99 DIfT:

1.AD,B,E,C
2.0, A,B.E. €
3.B.D,A,C.E
4 A,B,D,C.E

1 1

(2) 2

(3) 3

(4) 4

1[Option ID=8641]
2[Option ID=8642]
3[Option ID=8643]
4[Option ID=8644]

Sl. No.112
QBID:3201012




In a data set any extreme value, either very large or very small, compared to the rest of the data, is said to be:

. Exceedance
. Outlier

. Extreme

. Outsider
1) 1

(2) 2

3) 3

4) 4

U 3ol & =4 H [l 3 U Bl ol AY Hidbs| &I da-l H I1 dl 9gd dodl dgd DIcT 6, bedldl o
|

W I =

=

i

(1) 1
(2) 2
(3) 3
(4) 4
1[Option ID=8645]
2[Option ID=8646]

3[Option ID=8647]
4[Option ID=8648]

Sl. No.113
QBID:3201013

In online surveys, which of the following are sampling issues ?

A. People in a household may use the same computer, as they have access to only one.
B. Many respondents may have multiple email IDS.

C. Internet users constitute a biased sample of the population

D. Sampling frames for online surveys are cheap.

E. The governments restrict online surveys.

Choose the most appropriate answer from the options given below :

1. A. B and C only
2.B, Cand D only
3.C,D and E only
4. A, Cand D only

1) 1

() 2

(3) 3

(4) 4




HIarg Fdeon # FyfaRad # 9 SH-911 9 Uld=u- 48 ¢ 7

A. Tod! T TR & @1 U gl LR b1 WaRT 6d gi lifds 3 I HIF Ub gl HheR © |
B. 3% ITRaldIsl @I dglid sHd Ugd (ID) Bl Uil ¢ |

C. $XIC YAIadT S1ERaT b1 Ueh Ydiug! Uide=igld © |

D. HITeATZ" Hd&ull P T ufd=- hH 9xi § |

E. PR A3 A&l &I Wideied ddl g |

il faU 7Y fdpedl H I 9ad Iugdd IR &I 94 DI

1.$Hdd A, B. C

1[Option ID=8649]
2[Option ID=8650]
3[Option ID=8651]
4[Option ID=8652]

Sl. No.114
QBID:3201014

Mean of a data set is equivalent to:

1. First quartile of that data
2. Second quartile of that data
3. Third quartile of that data
4. Interquartile range of that data
1) 1
() 2
(3) 3
(4) 4

el U sfiheT GH=9d 1 {1 Y | U fhyd TaF g 2

1. 39 s BT yH agdid

2. 39 Hibsl Bl fgdid gl
3. 39 Hibsl BI gl Iqdd

4. 3K bl bl 3fd: gadd R
1) 1

(2) 2

(3) 3

4) 4

1[Option ID=8653]
2[Option ID=8654]
3[Option ID=8655]
4[Option ID=8656]

SI. No.115
QBID:3201015




Given below are two statements:

Statement I: Like correlation, statistical regression examines the association or relationship between variables.

Statement II: The primary purpose of regression is prediction.

In the light of the above statements, choose the most appropriate answer from the options given below:

. Both Statement I and Statement II are correct.

. Both Statement T and Statement II are incorrect.

. Statement I is correct but Statement II is incorrect.
. Statement I is incorrect but Statement II is correct.
1) 1

2) 2

3) 3

4) 4

fH APy RUU S

TYA 1 : Yoguae P Hifd, TiRSTHTT THIYTO <=1 & Tgad 3Ual 3d sid & Jaeif i Sfid 1 g |
DY I : FHIHTU] BT WD 339 YN 6 |

IWRIad HYA & 3fdiep |, Fd fau MU [dwedi # Ul IR &1 98- Hifore:

1. FUTIR I SHI Tal § |
2. FYF IR I SHI A § |
3. HYF 1 el 6, AP FUA I ITAd & |
4. YT 170d g, AfbT AT I TR § |

1) 1
2) 2
3) 3
(4) 4

LS I S I

&=

1[Option ID=8657]
2[Option ID=8658]
3[Option ID=8659]
4[Option ID=8660]

Sl. No.116
QBID:3201016

In governance, communication is normally used as a means of:

1. Gender division
2. Preserving power
3. Encouraging illegal actions
4. Alienating the masses
1
(2 2
(3) 3
(4) 4

QTG H, HUNUT &1 SR SRl 9 J 9 59 & 919 & © 9§ [Ha1 Sar g 2

B GUACEISE

PRIRICARE |

3. 3{dY BRI B UicTed DAl
4. SdT D1 faHd BT

1)1
(2) 2
(3) 3
(4) 4

1[Option ID=8661]
2[Option ID=8662]
3[Option ID=8663]
4[Option ID=8664]




Sl. No.117
QBID:3201017

A good part of communication in human society is through:

1. Para language
2. Infographics
3. Formal language
4. Hidden emotions
1
(2 2
(3) 3
(4) 4

HAHd THS H HUY0 &1 U Jol e MY d 9 fh9 b A Y gidi 6 2

1. YRTHYT

2.4l - 3 GRE|R (ijﬁlﬂlla’?fﬁ)
3. 3TN YT
4. =94 HId

(1) 1

(2) 2

3) 3

(4) 4

1[Option ID=8665]

2[Option ID=8666]

3[Option ID=8667]
4[Option ID=8668]

Sl. No.118
QBID:3201018

Which of the following elements involving social positions are determinants of communication from the eastern
perspectives?

A. Absence of leadership

B. Ego-centric individualism
C.Role

D. Status

E. Power

Choose the correct answer from the options given below:

1. A, Band C only
2.B, Cand D only
3.A, CandE only
4.C.D and E only

1

(2 2

(3) 3

(4) 4




gdf aRvied I i Uel &l Siasiddi did i+ 9 fHdifdd dad GUy & ek g 2
A. FJcd BT 3HId

B. 3gH hi-id Aliare

C. HfH®T

D. efigd

E. 2l

4 fAu T fahegl § 9 gl SR &1 98 Hifu :

1.$hdd A, B, C
2. ®dd B, C,D
3.hdd A, C.E
4.%dd C, D, E

(1)1
(2) 2
3) 3
(4) 4
1[Option ID=8669]
2[Option ID=8670]

3[Option ID=8671]
4[Option ID=8672]

Sl. No.119
QBID:3201019

Given below are two statements:

Statement I : The linear model of communication is used for generating intentional results.

Statement II : The linear model of communication was the basis of propaganda during the World War II.
In the light of the above statements. choose the correct answer from the options given below:

. Both Statement I and Statement IT are true
. Both Statement I and Statement IT are false
. Statement I is true but Statement II is false
. Statement I is false but Statement II is true
1) 1
(2) 2
(3) 3
4 4

BIEKAEAIC A 1

DY 1 : YUNUT b SAG HISA DI TR ST IR0 [HebTa- o fe1e fhar Sirar g |
DY 11 : YUY b1 1Y Hisd fgdia 9% g & SR 3119 U=R &1 3R o7 |
S BYF &b 3Mcld H, i fT T fdb el # Tel TR BT 98 Piforg:

1. FUFISR A TG |

2. U IR I GH A § |

3. FUTITA G, AP YT 3T ¢ |
4. FYFI 3T 8, dibd YT M I ¢ |

(1) 1
) 2

L I o B

d=




3) 3
4) 4

1[Option ID=8673]
2[Option ID=8674]
3[Option ID=8675]
4[Option ID=8676]

Sl. No.120
QBID:3201020

Given below are two statements:
Statement I : Coercive communication is ethical, powerful and result-oriented.

Statement II : In international power politics, unethical propagandist communication promotes national prestige
and security.

In the light of the above statements, choose the correct answer from the options given below:

1. Both Statement I and Statement II are true
2. Both Statement I and Statement II are false
3. Statement I is true but Statement IT is false
4. Statement I is false but Statement II is true

11

(2) 2

(3) 3

) 4

TR A FART T E:
DY 1 : U GUYUT Afde, F2rad 3R gRUTHFdl gidrg |
DY 11 : SHTRAPIY T Ao H SATTD SATYTIRATE FU0T AT HANT 3R GR&T DI 9161 ol 6|

IURIFd HUA P 3fTclld H, i fGT MU [dhedi # TGl IR D1 I8 DIfOIT:

1. HYTI RIS I &
2. HYTI AR I SH e &
3. HYTIII g, dfbd HYA I AT ©
4. PYTI A ¢, AP YT I T ©
1) 1
2) 2
(3) 3
(4) 4
1[Option ID=8677]
2[Option ID=8678]

3[Option ID=8679]
4[Option ID=8680]
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Find the next term in the series given below:
-7,-5,-1,5,13,?

.18

i

ol 20—

B 7
(1)1
(2) 2
(3) 3
(4) 4

.




1= <Y 778 el H BRI Ug J1d BIIT:

-7,-5,-1,5,13,7?

L I

I

L)

(1)1

) 2

(3) 3

(4) 4

1[Option ID=8681]
2[Option ID=8682]

3[Option ID=8683]
4[Option ID=8684]

Sl. No.122
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N men can complete a job in 12 days. The same job can be completed by (N+6) men in 8 days. Find the value of

11

D D =

.

212
1
(2 2
(3) 3
4 4

N e febdl b i 12 oAl H qrI R "ebdl ¢ | Il 1 1 (N+6) oalerrall gRT 8 ol H YR favan i epell
© | N T HIF J1d SIS

11

S S

.

12

(1) 1

(2) 2

(3) 3

(4) 4

1[Option ID=8685]
2[Option ID=8686]

3[Option ID=8687]
4[Option ID=8688]

Sl. No.123
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A beggar has Rs. 15 comprising of 50 coins of 25 paisa and 50 paisa. How many 25 paisa and 50 paisa coins are
there with the beggar respectively?

.40, 10
. 30,20
35,15
.36, 14
(1) 1
(2) 2
(3) 3
(4) 4

b b =

.




U TR & Ui 25 U9 3R 50 T & 50 [gdi ®i [HaHR 15 390 g | FFRIRT & 919 A 25 U9 3R 50
T & fpaa fRads ¢ -

.40, 10
. 30,20
.35 15
.36, 14
1)1
2) 2
(3) 3
(4) 4

S R S

B

1[Option ID=8689]
2[Option ID=8690]
3[Option ID=8691]
4[Option ID=8692]
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If the price of sugar increases by 25%, determine the percentage by which its consumption be reduced so as not
to increase the expenditure on it?

=l B =

.

VSIS
=]

)

(1)1
) 2
(3) 3
(4) 4

i =i 1 ged 25% d¢ SIdl 6, dl 39D SUHNT H {bd- Hid=Id S HHI DI O o 39 Wy H df 7
al

25%
30%
207
. 35%
1 1
) 2
(3) 3
(4) 4

L S R

B

1[Option ID=8693]
2[Option ID=8694]
3[Option ID=8695]
4[Option ID=8696]
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A lady while going to her college in a car drove 20 kms towards north and then 15 kms towards west. She then
turned to the south and covered 10 kms. Further she turned to the east and moved 12 kms. Finally she turned
right and drove 10 kms. How far and in which direction is the lady from her starting point ?

1. 5 km, South
2. 5 kim West
3. 3 km, West
4. 3 km, North

1) 1

) 2

(3) 3

4) 4




Uh Afgdl 39 Didiol oild IHY IR P 3R 20 fHt 3R R 15 fHH 9fdm &Y 3R FR gardi g | 9g
GI&0T B SR il § 3R 10 fbel &1 g T Bl & | 3F 98 Ud DI R A1 ¢ 3R 12 [HH Fadi g |
Wzﬂ;&@ﬁ@?ﬁ@?ﬂ%aﬁmoﬁﬁwaﬂﬁ% | A U SR fd-g J fba- g 3R [y
feamd g2

.5 Tobul, <l
.5 et ufem
.3 Tl ulgm
3 el 3R

(1) 1
(2) 2
(3) 3
(4) 4

L R S R

.

1[Option ID=8697]
2[Option ID=8698]
3[Option ID=8699]
4[Option ID=8700]

Sl. No.126
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"Environmentalists are continually harping about the dangers of nuclear power. Unfortunately, electricity is
dangerous no matter where it comes from. Every year hundreds of people are electrocuted by accident. Since
most of these accidents are caused by carelessness they could be avoided if people would just exercise greater
caution." Which fallacy is committed in the above argument?

. Red Herring

. Slippery Sope

. Strawman

. Hasty Generalization
(1

(2 2

(3) 3

(4) 4

"IgiaRuIfdE AT 39l & Tarl & aR A FRAR a1d R 3¢ ¢ | gHigav, fdegd Wdwrs ¢, 9re ag fadl
Hl Hid 9 U gidl 81 | U oy dobs| divT [dggd 3drd &l gHel & IR id ¢ | 374 9 SHfebig

G SYTaY & HRUMFfed gIdl & . 31 ge-T1adl Dl Akl ol ebdl ¢ Afe AT e Frae-t axd- i
SRIFd HYTH B - T ddb alv g ?

1. 38 gl _
2. haagad el (Rl i)
3. UMYl () b &N
4. ffa=Tid ARSI
1) 1
() 2
(3) 3
4) 4

I N

1[Option ID=8701]
2[Option ID=8702]
3[Option ID=8703]
4[Option ID=8704]
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Which of the following statement is logically equivalent to "No birds are mammals"?

1. Some birds are not mammals.
2. Some non-birds are mammals.
3. No mammals are birds.
4. All non-birds are mammals.
11
() 2




3) 3
(4) 4

FaiaRad @ U SF-91 HUH "Bis &l TR 761 o U dlivd U I A g 2

1. 5% vl TR T € |
2. % TR-Uel THYRI € |
3. Pls THYRI Tl 81 © |
4. g TR-Ual TAUR |

(1)1
() 2
(3) 3
(4) 4

1[Option ID=8705]
2[Option ID=8706]
3[Option ID=8707]
4[Option ID=8708]
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Which of the following is contrary to the statement "No mammals are birds"?

1. No birds are mammals.

2. Some mammals are birds.
3. All mammals are birds.

. Some birds are mammals.
11

(2) 2

(3) 3

4 4

"SBIg T el TE & By 9 Frafafad & 9 o fawdia 8

1. DTS gaf T TS ¢ |
2. O WAYRIUei g |

3. 9 YR Uel § |
4. 9 Ul WA T |
&

(3) 3

4) 4

g

1[Option ID=8709]
2[Option ID=8710]
3[Option ID=8711]
4[Option ID=8712]

Sl. No.129
QBID:3201029

If the statement "Some animals are birds" is given as false then which of the following statements can be
immediately inferred to be false?

1. Some birds fly.
2. Some animals are not birds.
3. No animals are birds.
4. All animals are birds.
11
(2) 2
(3) 3
) 4




e HUF "He SR U&H g 3 & w4 1 [¢a1 741 8 | dd FHfiRdd BI-81 Y dicblicid ©4 ¥ 3y
& &0 H AT fa1 o i g 2

1. PB Ui 3sd g |
2. g of-IaR Yajl 7gi g
3. PIg S Y&l ol g |
4. 9y SFAR U T |

1) 1

(2) 2

(3) 3

(4) 4

1[Option ID=8713]

2[Option ID=8714]

3[Option ID=8715]
4[Option ID=8716]

Sl. No.130
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Given below are two statements:
Statement I: According to Classical Indian School of logic (Nyaya) one can infer for oneself.

Statement II: According to Nyaya school inferring for oneself is a psychological process and does not require the
formal statement of the different members of a syllogism.

In the light of the above statements, choose the most appropriate answer from the options given below:

1. Both Statement I and Statement IT are correct
2. Both Statement I and Statement II are incorrect
3. Statement I is correct but Statement II is incorrect
4. Statement I is incorrect but Statement II is correct
11
(2) 2
(3) 3
4) 4

BIERACAIC AR U
DY I: T (1) & HRAI ARG Ad b 3UR WL & (e1g Hi 3T fohar ot ghar g |

DY 11 : TR HA & AR W & [ SHIA T Ub AT WidhaT ¢ SR Uraie & (4 @Rl &
HIPIRD HYU DI GGl el gldl ¢ |

JWRIGd HY & 3Tdid |, A faU MU g el # gad I9gad IR DI 99 Difog ;

1. HYT IR I SH 98l § |
2. HYT IR M EH Tad g |
3. YT RN €. Al PUT TG E |
4. HYT 1A g, dich- YT 11 el g |
1) 1
) 2
(3) 3
4) 4

1[Option ID=8717]
2[Option ID=8718]
3[Option ID=8719]
4[Option ID=8720]
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is a set of rules that must be obeyed when transferring files across the Internet.

1. HTML
2. URL
3.HTTP
. ISP

1) 1

(2) 2

3) 3

(4) 4

el &1 U qg= g forgeh] e IR higdl & RIMH-R H fHardd: ure a1 S =1fgu |

B

1. @A
2.9 3R Td
3w ddl
4. 3 ug di

(1) 1
2) 2
(3) 3
(4) 4
1[Option ID=8721]
2[Option ID=8722]

3[Option ID=8723]
4[Option ID=8724]
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The action of sending emails to fraudulently obtain another person's bank details is called:

1. Phishing
2. Pharming
3. Spamming
4. Smishing

1

(2) 2

(3 3

(4) 4

fordl 3= afekd & dob-Hafid faarull & HYCYde U B g SHd ol DI B H hgdldl 6 ?

1. TopfRiT

WIfET

f
4. feafaim

1) 1

2) 2

(3) 3

4) 4

[V O]

1[Option ID=8725]
2[Option ID=8726]
3[Option ID=8727]
4[Option ID=8728]
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Which of the following are the advantages in using Solid State Drives (SSDs) rather than Hard Disk Drives
(HDDs) in Laptop computers?

A. SSD is much lighter than HDD.
B. SSD has a lower power consumption than HDD.
C. SSDs are thick compared to HDDs due to no moving parts.

Choose the correct answer from the options given below:

. A and B only
. Aand C only
.Band C only
.A,Band C
(1

(2 2

(3) 3

(4) 4

émc‘%? B H TS (3P SI3d (HDDs) 13Ul Wilds T S13d (SSDs) @ WIRT & fgfaRad &1 -4
AHE 2

A. HDD®! 3{U&T SSD e/ geab! gicll § |
B. HDD®! U SSD H & fdggd Wud gldi & |
C. HDDs &1 ga-I1H SSDs HI! Blall & diidh 398 iy el HRT -Tg! Uil Sidl g |

(e

i<l AU 7Y fdpedl | I 98 Iugdd IR &I 991 DI :

1. $ad A 3R B
2. Had A 3R C
3. HAAB 3R C
4.A.B3RC

1) 1
(2) 2
(3) 3
(4) 4

R

1[Option ID=8729]
2[Option ID=8730]
3[Option ID=8731]
4[Option ID=8732]

Sl. No.134
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Match List I with List IT

LIST I (Statement) %iﬁg
A [Base-10 (denary) value of the binarv number: 100000 I |100
[nternet service provider advertises a download speed of
B. |80 megabits per second. What 1s the time taken in I |14

seconds to download an 80 megabvte file 7
1A music file 1s 80 megabytes in size and MP3 file
icompression reduces the size of a music file by 90%. m ko
" |The number of MP3 files of the size after compression :
that can be stored on an 800 MB CD
[What 1s the denary (base-10) equivalent to the .

: e ) V. |8
hexadecimal digit E?

D.

Choose the correct answer from the options given below:

1. A-II, B-1V, C-1, D-TII

2. A-IIL, B-1V, C-I, D-II

3. A-L, B-1I, C-IV, D-III

4. A-1IL. B-1. C-IV, D-1II
1)1




() 2
3) 3
(4) 4

ol 11 YT 1 9 A eifo

T EE) = I @)
A [fe3Tem=T T - 100000 DT 89 - 10 (GURNTE | L [100
S-CX-c Wl Werdl 80 HT fae 2 Uid Y s &f
B. [S3als T FAIRT $L 51 U so WiMalge @1 | 1L [14
BISd ®l SI3TaIS B Hf Hal GHY T |
T GAiid BI3d TR | 80 HERE @i g 3R
MP3 TISd Udd- T BISe @ 90% ddh ®H B
C. [GaT 81 39 PR 3! a1 9 Ot 3 Bigal & m 32
e UHTd 800 TH &t o1 Slal T Tafed o o w@d]

B
o ggﬂﬁ%EﬁW@ﬂm@ﬂ-m)m e
i< T3U U f[dded| § 1 gl IR &l 999 DI :

1. A-II, B-1V, C-1, D-III
2. A-IIL, B-1V, C-I, D-II
3. A-L, B-II, C-TV, D-III
4. A-IIT, B-1, C-1V, D-II

(1) 1

(2) 2

3) 3

(4) 4

1[Option ID=8733]

2[Option ID=8734]

3[Option ID=8735]
4[Option ID=8736]

Sl. No.135
QBID:3201035

Give below are two statements:
Statement I : CDs and DVDs are described as magnetic storage devices.

Statement II : Laser printers are made up of a print head consisting of nozzles that sprays droplets of ink onto the
paper to form characters.

In the light of the above statements, choose the correct answer from the options given below:

1. Both Statement I and Statement II are true.
2. Both Statement I and Statement II are false.
3. Statement I is true but Statement II is false.
4. Statement I is false but Statement II is true.

11

(2) 2

(3) 3

4 4




e pyafeuug -
DY 1 : iet 3R SIS TP UG Yfkidl (IUHRUM) & Y H O Id 6 |

DY I : TR fHfex T 319 2 I 54 g1d ¢ IS 21aRT & i 8 SIS R WIel &1 Sicl §al &
fSS®Id B ald AIoid aid © |

IR HUA & Alip H, Fid feU U f[dhedi § 9 el IR Bl 994 HIfoT
1. PYTISR IS 9d g |

2. HYF I AR I EH 3T § |
3. HYT I g, dfbd BYT I 3 TI © |
4 YT AT §, AT HYT I TAE |
1) 1
(2) 2
3) 3
(4) 4
1[Option ID=8737]
2[Option ID=8738]

3[Option ID=8739]
4[Option ID=8740]

Sl. No.136
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Give below are two statements:

Statement I : The Montreal Protocol to protect the Earth's ozone layer is to date the only United Nations
environment agreement to be ratified by every country in the world.

Statement II : Paris agreement establishes voluntary commitments by all parties to prepare, communicate and
maintain a Nationally Determined Contribution (NDC).

In the light of the above statements, choose the correct answer from the options given below:

1. Both Statement I and Statement II are true.
2. Both Statement I and Statement II are false.
3. Statement I is true but Statement II is false.

4. Statement I is false but Statement II is true.
1) 1
(2 2
(3) 3
4) 4

TR FARTIUE:

DY : Gedl 1 31ST URd b GRAUT & U Hifead WeTbld SfTeide 1 qaiarul Hatl e Y I
THHTA BRR ¢ o1 134 & YdDH A B P g |

PUT I : TR HIR AL TR R FeiRa Frer (TSRl TaR S, Uftd o3 R 3RE0 o3 8
it eii gR1 Wiesd Faa<did |AMUd Hd1 @ |

IR HUA P 3HTcdlld I, i fGU MU [dhed] & TE IR D1 98 DIfoIe:

1. BYTIIR IS I © |
2. HYFI AR I SHI 3T § |
3. HYT I 8, AP PUYTII 3T E |
4 FYT AT 5, AP HYT 1 T © |
1) 1
(2) 2
(3) 3
4) 4




1[Option ID=8741]
2[Option ID=8742]
3[Option ID=8743]
4[Option ID=8744]

Sl. No.137
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Give below are two statements:

Statement I : Thermal pollution, usually effluent from cooling systems of power plants or other industries, alters
water temperature in a lake or stream.

Statement IT : Humans also cause thermal pollution by altering vegetation cover and run-off patterns.
In the light of the above statements, choose the correct answer from the options given below:

1. Both Statement I and Statement II are true.
2. Both Statement I and Statement II are false.
3. Statement I is true but Statement II is false.
4. Statement I is false but Statement II is true.

11

(2) 2

(3) 3

4 4

BIERACAIC AR U

DY 1 : AT [degd YT rydT 3= Il ot wRiia yonferal I sfg:@ra, dardig uguor sl a1 oid
TaTE B 51 & a1 H gRad dR a1 |

DY 11 : A Wl Tl SHTTe 3R S Udlg! woyl I giRafdd $ drdig Ugyu Hdi g |

JWRIEKT HYH & 3ATdid |, i faU 70 fadhedi § Tl IR &1 999 Difoid:

1. BYTIIR IS 9T © |
2. HYFI AR I SH 3T g |
3. HYT I o, Al YT I 3T ¢ |
4. FYTI A . APAFYT N TAE |
1) 1
(2) 2
(3) 3
4) 4

1[Option ID=8745]
2[Option ID=8746]
3[Option ID=8747]
4[Option ID=8748]
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Which of the following substances has the least Ozone Depleting Potential?

. Chlorofluorocarbons

. Hydro chlorofluorocarbons
. Carbon tetrachloride

. Halons

11

(2) 2

(3) 3

4) 4

fafeiad o 9 foog gard &t fieli sfgart GHIedl JIAdH ¢ 2

1. FARTFRIbTe
2. BIS S IAIRIURIBTa
3. BT CClHIRIS S

4. 509

W I =

=




(1) 1
(2) 2
(3) 3
(4) 4
1[Option ID=8749]
2[Option ID=8750]

3[Option ID=8751]
4[Option ID=8752]
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Potential regions of geothermal sites are:

A. Circum pacific belt
B. Himalayan Region
C. Delta

D. Subduction zones
E. Rann of Kachchh

Choose the correct answer from the options given below:

.A.Band C only
.B, C and D only
.A.Band D only
.A.Dand E only

1) 1
(2) 2
(3) 3
(4) 4

yaT ®Ql & G &

A. GR-YNT &7 (BT URITGS de)
B. feATad &4

C. STl

D. FEge (Fdsavr) &

E. Fed &I 0]

i fAu T Aol H 9 gl SR &1 98- Sifu :

1. Fad A, B, 3R C
2. $Had B, C 3R D
3. Hdd A, B3R D
4. A A, D 3R E

1)1
(2) 2
(3) 3
(4) 4

LS I o B

=

1[Option ID=8753]
2[Option ID=8754]
3[Option ID=8755]
4[Option ID=8756]

Sl. No.140
QBID:3201040

International Solar Alliance (ISA) has its head quarter in:

1. United States
2. Switzerland
3. India
4, France

11

(2) 2




3) 3
(4) 4

STRIPIY HR e (S1STHY) BT HEaTed afaiad § 9 ogi iR g -

1. TG I SHALIDT
2. RgcoRds
3. HRd
4.1

1) 1

(2) 2

(3) 3

(4) 4

1[Option ID=8757]

2[Option ID=8758]

3[Option ID=8759]
4[Option ID=8760]

Sl. No.141
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National Council for Vocational Education and Training (NCVET), an overarching skills regulator, was notified
in the year:

. 2018
. 2015
. 1956
. 1961
1 1
(2) 2
(3) 3
(4) 4

U 3ffd 31=s1g PId faf g, APty sarqais fRia ¢d ufRienn gikyg (gafidisd) feg oy sifdyfed
ge di?

. 2018
. 2015
. 1956
. 1961
11
() 2
(3) 3
4 4

b b =

.

D

I

1[Option ID=8761]
2[Option ID=8762]
3[Option ID=8763]
4[Option ID=8764]

Sl. No.142
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Which of the following are the ancient Indian texts on Astronomy?

A. Sankhyakarika

B. Siddhanta Siromani
C. Surja Siddhanta

D. Grihya Sutras

Choose the most appropriate answer from the options given below:

1. A, B and C only
2. B and C only
3.A/B.Cand D
4. A, B and D only
1
) 2




3) 3
(4) 4

fgfafad 8§ 9 @md - ffgA R UEH yRdg dy HH T 2

A, SIS S
B. f4Gid R0
C. 9ol Rrgid
D. 8 g

il AU 7Y fdpedl H I 98 Iugdd IR Bl 99 DI

1. $adA. B3R C
2. FAAB AR C
3.A.B,C3{RD
4. A A, B3RD

1) 1
(2) 2
(3) 3
(4) 4

1[Option ID=8765]
2[Option ID=8766]
3[Option ID=8767]
4[Option ID=8768]

Sl. No.143
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Which of the following are the characteristics of conventional learning?

A. Cost-effective

B. Teacher-centered learning
C. Learner oriented

D. Prescribed curriculum

E. Require regular attendance.

Choose the correct answer from the options given below:

1.C,D and E only
2.B.Dand E only
3. A.DandE only
4. A, B and D only

1) 1

2) 2

3) 3

(4) 4

fgfafad § 9 gRuRe i =1 faRya St g 2
A. ARTA-gHTat

B. 18/ - Bid ifemm

C. SMETHSdl - 34"

D. iy area=mat

E. Frafia SoRufa emew®
Hid fau Tt fadh eyl | I el 3R &l 99 DIIU :

1.$ad C, D 3R E
2. $dd B. D 3R E
3. Hdd A, D 3RE
4. HGAA. B3RD




(1) 1
(2) 2
(3) 3
(4) 4
1[Option ID=8769]
2[Option ID=8770]

3[Option ID=8771]
4[Option ID=8772]

Sl. No.144
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Higher order thinking skills can be promoted through:

1. Rote learning
2. Active learning
3. Passive learning
4. Tutorials

1

(2 2

(3) 3

(4) 4

3= i Add ®iee & Fufafad d 9 g gy uianfed foar s asdi g 2

. giehg-3HienTy
s aiferme

L N

=

(1) 1
(2) 2
(3) 3
(4) 4
1[Option ID=8773]
2[Option ID=8774]

3[Option ID=8775]
4[Option ID=8776]
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Who among the following was the Governor-General and the Viceroy who passed the acts of incorporation in
January 1857, which provided for the establishment of universities at Calcutta, Bombay and Madras?

. Lord Curzon

. Lord Dalhousie

. Lord Lansdowne
. Lord Canning
1) 1

(2) 2

3) 3

4) 4

fafRad § 9 98 a7k SR 3R araeRIg S o7 fSr- SHaR] 1857 H GHTARM &1 Sfffas aiivd o,
ST patehl, ST SR AR H fayfaeerdl i RITH=T 1 #1 YRR gl 2

1. ETS Hoid
2. IS Sdgloll
3. S A9
4. @IS ST

1) 1
(2) 2
(3) 3
(4) 4

W I =

=

1[Option ID=8777]
2[Option ID=8778]




3[Option ID=8779]
4[Option ID=8780]
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Read the following passage and answer the questions.

The progress of salt march can also be traced from another source: The American news magazine Time. This, to
begin with, wrote with disdain of Gandhi's "Spindly frame" and his "spidery loins". In its first report, Time was
deeply skeptical of the marchers reaching their destination. It claimed that Gandhi "sank to the ground" at the end
of the second day's walking; the magazine did not believe that "the emaciated saint would be physically able to
much further". Within a week, it had changed its mind. The massive popular following that the march had
gathered, wrote Time, had made the British rulers "desperately anxious". Gandhi himself they now saluted as a
"saint" and a "statesman who was using "Christian acts as a weapon against men with Christian beliefs". The salt
march was notable for at least three reasons. First, it brought Gandhi to world attention, with the march being
widely covered by the European and American press. Second, it was the first nationalist activity in which women
participated in large numbers. The socialist Kamaladevi Chattopadhyay had persuaded Gandhi not to restrict the
protests to men alone. Kamaladevi was herself one of numerous women who courted arrest by breaking the salt
or liquor laws. Third, and perhaps. the most significant, it was the salt march that forced upon the British the
realization that their raj may not last for ever and that they would have to devolve some powers to Indians.

frafafad meiw & ufgu iR Uy &1 3R S

TS ATaIa P WA Bl TH 3G Wi I H JIoT off Thdl § : 3D THER THH —oRH | RY H 5
g [REPRYAD Tl & “gae Udd eid” 3R “HPbS! ol HHY & aR H feradi ¢ | 3u-! ugdl R #.
CTsH SfTala-Ta1Ral & 37U Tided ddb Ugd Ul ol debx Siieieh SRl AT | 28 ardl fhar fob gar fe1 &l
LA GHIT & A i < 0= TR 70, Uiieh1 i fagre =gl o1 fb “H=iebrd ¥d 2R 31T 9o J
IRIRG =9 4 THd g1 Uh g & iR o, 534 30H! U 9ed of | elsH A foran f& siigia 3 foaq
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il b1 GHgd 1 form o fab 9 {9y 61 A gon! g diffd 739 | HadCd! W6 39 3P Afgarefi # 9
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What was the initial response of western press to Ghandhiji's salt march ?

1. Skeptical
2. Appreciative
3. Deceptive
4. Neutral
1) 1
) 2
3) 3
(4) 4

TieliSit & 9P iaidd & Ui gigH! U0y o 3RIYD Hididhar a7 ot 2

1. 9l
2. U1 5B
3. YHB
4. FROg
1) 1
2) 2
(3) 3
4) 4
1[Option ID=8781]
2[Option ID=8782]

3[Option ID=8783]
4[Option ID=8784]
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Read the following passage and answer the questions.

The progress of salt march can also be traced from another source: The American news magazine Time. This, to
begin with, wrote with disdain of Gandhi's "Spindly frame" and his "spidery loins". In its first report. Time was
deeply skeptical of the marchers reaching their destination. It claimed that Gandhi "sank to the ground" at the end
of the second day's walking: the magazine did not believe that "the emaciated saint would be physically able to
much further". Within a week, it had changed its mind. The massive popular following that the march had
gathered, wrote Time, had made the British rulers "desperately anxious". Gandhi himself they now saluted as a
"saint" and a "statesman who was using "Christian acts as a weapon against men with Christian beliefs". The salt
march was notable for at least three reasons. First, it brought Gandhi to world attention, with the march being
widely covered by the European and American press. Second, it was the first nationalist activity in which women
participated in large numbers. The socialist Kamaladevi Chattopadhyay had persuaded Gandhi not to restrict the
protests to men alone. Kamaladevi was herself one of numerous women who courted arrest by breaking the salt
or liquor laws. Third, and perhaps. the most significant, it was the salt march that forced upon the British the
realization that their raj may not last for ever and that they would have to devolve some powers to Indians.

frafafad i & ufeu stk uy &1 3w i

IS Hialdd Bl WA Bl U = Hid § HI JIST o Gl § : 3ERID I THMER UHH —eRH | HRY H 8
g [RGB RYASD il & “gadl gdd eia” AR “Hdho! ol HHY & R H feradi ¢ | 3911 ggal RUie H,
CTsH STGId-Ih1IAl & 37U Tided deb Ugd Ul ol b Siieieh SRl AT | 38 ardl fhar fb gar a1 &l
LA GHITG & A il <STH 0= TR 70, Uit i fagre =gl o fb “H=1ebrd §d 2R 31 Ia- J
IRIRG T9 4 THY g1~ Th Uiig & iR 51, 534 301 U 9ad of | el5H A forn f& sfigiaq A foaq
9 UHM IR BT S U [ I8 Tt —mep FRI=IeHe 4 9 i g1 e Y | o d el
DI U UY “¥d 3R ST & 20 § AT - ] Sl “adls AT a1 ARl & [deG 3978 39Tl &l Uh
BIUUR & T4 H SIAHTA B QT U | THE 3iGIe HH U HH oI HRUI I IeE-1d 4T | 54H 38 g
R T & Tl B AR Wi, GG 3R RIS GHER Ared] A 38 A" & 9 UHH IR Har [ |
SR, gg Ugcll xyard! Tfafafer o4 fores wfgarett 5 HRkl T # v fern | gATSaret eHdred! Ig ey |
il b1 GHgd B forn o fob 9 f90e 1 A gon! g diffd 7139 | dHdCd! W6 39 3P Afgarefi # 4
Teh At oG- TS 3fdl 7e] BIYHI D1 et B TREIRI &1 | dRR 3R IS Yaiide Agayul, Tg 10D
STGI B AT for iUl &1 I YU - YR HolaR (o4 {dh 3-1ehT XISl /4G GHRI 9 g 3R I8 (6 3¢
Hiau QAfkTdl BT HRAAT Bl NTEA BT BRT |

How did Time magazine describe Gandhi's salt march in its first report ?

1. People would reject the march.
2. He would not be able to complete it.
3. The British supported the march.
4. Gandhiji had the physical strength to lead the march.
1) 1
) 2
(3) 3
(4) 4

<134 U1 A 39+ uyH RYid § it & T89S 3fieia &1 by gulH fdar 2

1. ST 3eId Bl 3EIHR B Tl |

2. 9 39 G gl R UIu |
3. 3l A 3figIa o1 gAY T |

4. 1iefiSft H A @) B Add B B AR 2l o |

(1) 1
) 2
(3) 3
(4) 4

1[Option ID=8785]
2[Option ID=8786]
3[Option ID=8787]
4[Option ID=8788]

Sl. No.148
QBID:3201048




Read the following passage and answer the questions.

The progress of salt march can also be traced from another source: The American news magazine Time. This, to
begin with, wrote with disdain of Gandhi's "Spindly frame" and his "spidery loins". In its first report. Time was
deeply skeptical of the marchers reaching their destination. It claimed that Gandhi "sank to the ground" at the end
of the second day's walking: the magazine did not believe that "the emaciated saint would be physically able to
much further". Within a week, it had changed its mind. The massive popular following that the march had
gathered, wrote Time, had made the British rulers "desperately anxious". Gandhi himself they now saluted as a
"saint" and a "statesman who was using "Christian acts as a weapon against men with Christian beliefs". The salt
march was notable for at least three reasons. First, it brought Gandhi to world attention, with the march being
widely covered by the European and American press. Second, it was the first nationalist activity in which women
participated in large numbers. The socialist Kamaladevi Chattopadhyay had persuaded Gandhi not to restrict the
protests to men alone. Kamaladevi was herself one of numerous women who courted arrest by breaking the salt
or liquor laws. Third, and perhaps. the most significant, it was the salt march that forced upon the British the
realization that their raj may not last for ever and that they would have to devolve some powers to Indians.

FrafaRad e &1 ufgu ok us &1 IR gIioie

TS Hiald Pl WA Bl U 3= Hid G HI FIST o Gl § : SERID I THMER UHE —RH | RY H 8
g [RGB RYdSD it & “gadl Udd e AR “Hdho! ol HHY & R H feradi ¢ | 3o+ gt Ruid 7,
CT3H SfTGI-Teh1Idl & 37U+ Tided deb Ugd Ul ] debx Siieeh SRl AT | 38 a1l fobar fob gar a1 &l
LA GHITG & A il <STH IR FR 70, Uiiest &l fare =gl o1 fb “H=1ebr ¥d SR 31 - J
IRIRG 9 T THA g1~ Th Uiig & Ui o, S 0! U 9ad of | el5H A foran f& afigrad 3 foaq
99 UHM IR B S U b I8 Tt —mes FRI=Ieeb 4 9 i g1 e Y | o d el
B Ueh UY “Tdl 3fR “Aedr & 9 H G HA @1 Sl “340T5 AT drd Al & (a8 3975 Sl &1 Th
BIUUR & T4 H ST B GT U | THE 3HiGlIe HH U HH di- HRUI I Iea-1d 4T | GH g4 g
YR BT & el B AR Widn, R 3R RIS GHER A1l H 38 A" Il 9 UHH IR Har [ |
IR, gg Ugcll xyardl Tfafafer o4t fores wfgarstl 5 Rkl T # 4 feran | gATSaret eHdred! Igiareay |
il b1 GHgd B forn o fob 9 f90e 1 A gon! g diffd 7139 | dHdCd! W6 39 3P Afgarefi # 4
Teh At oG- TS 3fdl 7e] BIYHI D1 et B TREIRI &1 | dRR 3R IS Yaiide Agayul, Tg 10D
STGI B AT for iUl &1 I YU - YR HolaR (o4 {dh 3-1ehT XISl /4G GHRI 9 g 3R I8 (6 3¢
Hiau QAfkTdl BT HRAAT Bl NTEA BT BRT |

‘What was the first effect of the salt March ?

. People were confused.

. Gandhi's followers were reluctant.

. Gandhi was able to garner world attention

. Gandhiji's faith in Christianity got reinforced.
)1

(2 2

(3) 3

(4) 4

THS ScIa-T DI Tgell WHId &1 4T 2

1. ST yfHd ot |

2. el & St S g P ¥ |

3. 1iefl T T A 3D HR U o |
4. 3918 o H TS @1 ey yad ol Tl |

1) 1
(2) 2
(3) 3
(4) 4
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1[Option ID=8789]
2[Option ID=8790]
3[Option ID=8791]
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Read the following passage and answer the questions.

The progress of salt march can also be traced from another source: The American news magazine Time. This, to
begin with, wrote with disdain of Gandhi's "Spindly frame" and his "spidery loins". In its first report. Time was
deeply skeptical of the marchers reaching their destination. It claimed that Gandhi "sank to the ground" at the end
of the second day's walking: the magazine did not believe that "the emaciated saint would be physically able to
much further". Within a week, it had changed its mind. The massive popular following that the march had
gathered, wrote Time, had made the British rulers "desperately anxious". Gandhi himself they now saluted as a
"saint" and a "statesman who was using "Christian acts as a weapon against men with Christian beliefs". The salt
march was notable for at least three reasons. First, it brought Gandhi to world attention, with the march being
widely covered by the European and American press. Second, it was the first nationalist activity in which women
participated in large numbers. The socialist Kamaladevi Chattopadhyay had persuaded Gandhi not to restrict the
protests to men alone. Kamaladevi was herself one of numerous women who courted arrest by breaking the salt
or liquor laws. Third, and perhaps. the most significant, it was the salt march that forced upon the British the
realization that their raj may not last for ever and that they would have to devolve some powers to Indians.

FrafaRad e &1 ufgu ok us &1 IR gIioie

TS Hiald Pl WA Bl U 3= Hid G HI FIST o Gl § : SERID I THMER UHE —RH | RY H 8
g [RGB RYdSD it & “gadl Udd e AR “Hdho! ol HHY & R H feradi ¢ | 3o+ gt Ruid 7,
CT3H SfTGI-Teh1Idl & 37U+ Tided deb Ugd Ul ] debx Siieeh SRl AT | 38 a1l fobar fob gar a1 &l
LA GHITG & A il <STH IR FR 70, Uiiest &l fare =gl o1 fb “H=1ebr ¥d SR 31 - J
IRIRG 9 T THA g1~ Th Uiig & Ui o, S 0! U 9ad of | el5H A foran f& afigrad 3 foaq
99 UHM IR B S U b I8 Tt —mes FRI=Ieeb 4 9 i g1 e Y | o d el
B Ueh UY “Tdl 3fR “Aedr & 9 H G HA @1 Sl “340T5 AT drd Al & (a8 3975 Sl &1 Th
BIUUR & T4 H ST B GT U | THE 3HiGlIe HH U HH di- HRUI I Iea-1d 4T | GH g4 g
YR BT & el B AR Widn, R 3R RIS GHER A1l H 38 A" Il 9 UHH IR Har [ |
IR, gg Ugcll xyardl Tfafafer o4t fores wfgarstl 5 Rkl T # 4 feran | gATSaret eHdred! Igiareay |
il b1 GHgd B forn o fob 9 f90e 1 A gon! g diffd 7139 | dHdCd! W6 39 3P Afgarefi # 4
Teh At oG- TS 3fdl 7e] BIYHI D1 et B TREIRI &1 | dRR 3R IS Yaiide Agayul, Tg 10D
STGI B AT for iUl &1 I YU - YR HolaR (o4 {dh 3-1ehT XISl /4G GHRI 9 g 3R I8 (6 3¢
Hiau QAfkTdl BT HRAAT Bl NTEA BT BRT |

The salt march was the first nationalist movement to attract/incur

. The attention of American press

. comments by the European press

. The wrath of the British Government

. A large number of women participants
1

(2 2

3 3

(@) 4
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Read the following passage and answer the questions.

The progress of salt march can also be traced from another source: The American news magazine Time. This, to
begin with, wrote with disdain of Gandhi's "Spindly frame" and his "spidery loins". In its first report. Time was
deeply skeptical of the marchers reaching their destination. It claimed that Gandhi "sank to the ground" at the end
of the second day's walking: the magazine did not believe that "the emaciated saint would be physically able to
much further". Within a week, it had changed its mind. The massive popular following that the march had
gathered, wrote Time, had made the British rulers "desperately anxious". Gandhi himself they now saluted as a
"saint" and a "statesman who was using "Christian acts as a weapon against men with Christian beliefs". The salt
march was notable for at least three reasons. First, it brought Gandhi to world attention, with the march being
widely covered by the European and American press. Second, it was the first nationalist activity in which women
participated in large numbers. The socialist Kamaladevi Chattopadhyay had persuaded Gandhi not to restrict the
protests to men alone. Kamaladevi was herself one of numerous women who courted arrest by breaking the salt
or liquor laws. Third, and perhaps. the most significant, it was the salt march that forced upon the British the
realization that their raj may not last for ever and that they would have to devolve some powers to Indians.

FrafaRad i &1 ufgu ok ug &1 IR gIioie

IS Hialdd Bl WA Bl U = Hid § HI JIST o Gl § : 3ERID I THMER UHH —eRH | HRY H 8
g [RGB RYASD il & “gadl gdd eia” AR “Hdho! ol HHY & R H feradi ¢ | 3911 ggal RUie H,
CTsH STGId-Ih1IAl & 37U Tided deb Ugd Ul ol b Siieieh SRl AT | 38 ardl fhar fb gar a1 &l
LA GHITG & A il <STH 0= TR 70, Uit i fagre =gl o fb “H=1ebrd §d 2R 31 Ia- J
IRIRG T9 4 THY g1~ Th Uiig & iR 51, 534 301 U 9ad of | el5H A forn f& sfigiaq A foaq
9 UHM IR BT S U [ I8 Tt —mep FRI=IeHe 4 9 i g1 e Y | o d el
DI U UY “¥d 3R ST & 20 § AT - ] Sl “adls AT a1 ARl & [deG 3978 39Tl &l Uh
BIUUR & T4 H SIAHTA B QT U | THE 3iGIe HH U HH oI HRUI I IeE-1d 4T | 54H 38 g
R T & Tl B AR Wi, GG 3R RIS GHER Ared] A 38 A" & 9 UHH IR Har [ |
SR, gg Ugcll xyard! Tfafafer o4 fores wfgarett 5 HRkl T # v fern | gATSaret eHdred! Ig ey |
il b1 GHgd B forn o fob 9 f90e 1 A gon! g diffd 7139 | dHdCd! W6 39 3P Afgarefi # 4
Teh At oG- TS 3fdl 7e] BIYHI D1 et B TREIRI &1 | dRR 3R IS Yaiide Agayul, Tg 10D
STGI B AT for iUl &1 I YU - YR HolaR (o4 {dh 3-1ehT XISl /4G GHRI 9 g 3R I8 (6 3¢
Hiau QAfkTdl BT HRAAT Bl NTEA BT BRT |

According to the passage, the most significant outcome of the salt march was that

1. The British were able to nullify the effects of the movement.
2. Gandhiji could not achieve his aim of breaking the salt law.
3. The British realized the need for devolution of power with Indians.

4. The salt march ended as a mere local movement of tokenism.
1) 1
(2 2
(3) 3
4) 4

TR & STHR, THD SHicleT b1 Halidd Agayul uiRom g 5 Qs a1 2
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1) 1
(2) 2
3) 3
(4) 4

1[Option ID=8797]
2[Option ID=8798]
3[Option ID=8799]
4[Option ID=8800]




